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Objective

If you prepare these MCQs then Insha Allah Confirm your 12 /12 marks.

& A12[12 L T s S o A

» You have four choices for each objective type question as A, B, C and D. The choice
which you think is correct.

Industrial  chemistry deals with the A N . S
manufacturing of compounds: e AUk ﬂJ’”g e e
On economic scale On commercial On micro scale In the laboratory
. i D . ki C 7 B i A
il scale &k v g S0
Which one of the following compounds can be «. (Ll p)fﬁ?'. S S 5
separated by physical means? hndhs et A SRl e i
Radicals " Compounds " Elements . Mixtures "
;;;f o S A By
How compounds are formed in industrial chemistry? ?ugid“/)fvigf SEAES 2| 3
On economic scale . On commercial - On small scale . [n laboratory "
/J'CJM/ scale /J’CJ;/\/ 4J:CL){ A
The most abundant element occurring in the oceans Y ﬂﬁi Loz S 4

is:
Oxygen f*'? D  Hydrogen o*+.%, C  Nitr &ﬁ’u’ st B Silicon gL~ A

Which one of the following elements is found in ¢ bl SIS e S5t D
C. MV J10 Pl I

most abundance in the earth’s crust?
Oxygen ST D  Aluminum ("' # Silicon €L~ B Argon o5 T A

z‘ilniozl;l;greati)stjndant gas found in th arth’s ??d%dg‘f{uﬁ/ygg/c_wgﬁfu:‘j’m/ 6
Carbon monoxide Nitrogen Argon

ST I D S ] : U2V’ . il I &

The number of naturally occurring elements is: P! gpilLué_Lgé_g,;;#J,«ﬁ 7
109 D 92 v C 86 B 80 A

The quantity of nitrogen by weight on Earth’s crust is: :;.Jyzujwtfbt,&’» SRt SmS 8
0.79 D 0.77 C 0.76 B 0.78 vV A

The percentage quantity of oxygen in human body is: e w4 S j{’i’ J(’- U9
64 D 6 C 65 v B 66 A

The element occurring in the form of liquid is: :Lég,:.ff,luué_,tfggu::)bél. 10
lodine (/357 D Chlorine cp){ C Fluorine @p}f’ B Bromine %, v A

Elements are mostly found as: :‘LJ@JL";‘.{.}([J L1
Metalloids =% D Solid Uy C Liquid uﬁél. B Gas u’f A

The lightest element is: e iotle 2 12
Calcium (f-tf( D Magnesium f..”? C Sodium (%3s B  Lithium (.‘.55 v A

The valency of boron is: :ﬁ-_u"‘k;d/uwz 13
4 D 3V C 2 B 1 A

The example of homogeneous mixture is: :?J@J/;( “Zvw 14

Radicals 4. D Compounds %y C  Elements /*%% B Icecream(/U'Tv A

| I L [ S [, [ T e ) [ [ (o I ) ) e (T S T (] [ Y e o S (| S {5 e ) () | U [ (| s (| ) (U Y o ) (Sl () ([ | ) [y (T [ e ) e e ) ) [ [ [T (S e ) [ () ) [y ) [ [ e 1 o S T ) o e S\ ey T T e ) | ey (e T e ) ) ST RS T ) T T 1 17 [

Formula of washing soda is: e U b3 15

|
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?4.;3/5{ # “1d_1sd b2 E{g:”&)ﬁl&kd}ﬂ

occurring elements?

L NaOH D NazC03.10H;0 v C NaOH B NazCOs3 A I
Formula of calcium oxide is: :%Ur;GKgM(fg 16
; CaCO3 D KOH  C  Ca(OH)2 B Ca0 v A :
Empirical formula of glucose is: o@pakcity.org%o :‘Lum‘ﬁ./;.:.m% 17
; H.0 D CH,0¥  C  CHO B CH A f
Empirical formula of benzene is: :?Urjsﬂ/;.fi&gfr} 18
5 C6H6 D C2H2 C CH v B CH:0 A ;
| The valency of iron in ferric sulphate Fez(S04)3 is: :;.JLP-,JU}TJ Fez(S04)32-S /7 19
E 4 D B C 2 B 1 A ;
| The percentage of nitrogen in air is: :‘a.éﬁw/‘:(fcﬁ:f/l:uflﬂ 20
; 20% D 0.21 C 0.78 v B 0.7 A ;
| Atomic mass number of an element is represented as: :%b@g/;wf/u’tﬂléﬂf.{i I i
; K D N C AV B 7 A ;
1| Atomic number of oxygens is: . AIKFT 2
E 10 D 8 C 9 B 6 A ;
| At room temperature, ......... is found in liquid form: :%L{%‘lﬂlelgkg{.&JbéL{:é/;jr}J Bl
Mercury §./ » v D Zinc & C Copper ¢ B Sodium (%3 A
| Atomic number of sodium is: :é.t'ﬂ/:)._ﬂi’lgﬁfr 24 |
' 13 D 12 C 10 B 11V A :
| Isotope C-12 is found in quantity: :é.blgggut,f,&'c-n?ﬁﬁ? 25 |
f 0.989 v D 0.997 C 0.9_;;?@ B 0.969 A :
| Mass number of hydrogen is: S Q@ :§./JLKJ:J,‘§Q 26 i
: -1 D 2 C /fg%\s " B 0 A '
| Element found in gaseous state is: A S :é.t‘l?.t.guﬁc%(jf'{//;?:é{ﬁl 27 |
Sodium (£5s D  Oxygen J{T @&é Gold 45 B Mercury ./, A
] . . AL ONS I
| e zﬁéﬁc‘ffd Y elwdeunpetimisesdis B |
I Mixture j,j v D ﬂgﬁlent ik C Compound x5y B Radical ﬂf}g A I
Molecular formula of glucose is: :‘au;ots/',;?mfyg 29
: C2H402 D CH20 C CHO B CHuOsv A |
| Molecular mass of benzene is: :caums/',;?wggf:« 30 |
f CaHe o/ D Gl C CH20 B H,0; A ;
Empirical formula of hydrogen per oxide is: :i;_UrJBﬂ/;;lngfT4:Jngy 31
] Si0 D CH,0 C OH v B CH A i
Which one of the following molecules is not tri-atomic? ?‘L.Uﬁ;J{‘?Ln_@fJ’jL:’[U:J“:’@JJ 32
: CO; D H20 C 0 B Ha v/ A :
......... is formed with the removal of an electron from an atom: :ﬁ;,&a.@ljléu:}gla_ﬁlj( 33
i Molecular anion Molecular cation Anion Cation i
E Fet /L D Fel AL ‘ 5 B S A :
All are tri atomic molecules except: :Llrujd:gl.u@’lélfrb’“uﬁdj@ﬂ 34
f CO2 D H20 C 03 B Hy v A E
Molar mass usually expressed in grams. Which S K02 e AL - bl U 46 u’.:ﬂfir‘ SULy 35
| one of the followingis molar mass of 0:zin S |
| amu? ?c‘_vu/ui'amu 0
| 192x10%amu D 1.92x10%amu C 53.12x102amu B  32amu v A :
1| Sea water is a source of how many naturally 16 |

92 V D 71 C 63 B 43 A

2
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Which of the following pair of elements has equal mass? ?ggéjm.l,fy,{lu&lé;jﬁw/a;uij,,i@» 37

Which one of the following arethe most

penetrating particles? ?u,,?LuL/afl/wpa,quﬁg;l.}%;gifa.uf:u; 52

: One mole COz and One mole CO and One mole CO and -
| Onemole Oz and one mole N> one mole N; one mole CO;
|| omemoleCOz D 4 rg, pfiNg € CO UrfiNzo | B LfaCO JrofiCOp | A :
| Jr (1102 JrLICO; :
: Jr Jr Ll Jr :
Which one of the following is not a triatomic molecule? ?é_uifJ{?LﬂIJI}UIJJ“}@J; 38
; CO> D H-0 C Hz v B 03 A ;
| How many numbers of moles are equivalent to 8 grams of CO2? i lIrZ L 1 /8LC02 39
0.24 D 0.21 C 0.18 B 0.15 v A
| The mass of one molecule of water is: ?ﬁ;EfJLKJ,:?L,QL&g 40 |
: 18kg18¢./¥ D 18mg18¢./y C 18g18./ v B 18 AMU A :
The molar mass of H2S04 is: _%JL/':"KH2504 41
g 9.8 AMU D 98g98¢S C 98 AMU B 98g98.//v A i
Which one of the following is a molecular mass of Oz in amu? ?Q:_UfutAMUJL/rKOZa.;uﬁJ,}@n 0 |
: 192 x 1025 D  192x102 €  53.12x102 B  32AMUYV A :
'S[‘l}lllz hatef(()}tg;;t:)l; - mass of potassium A6 (oSO8 (::,u 43
. 194 amu D 184 amu C 164 amu B 174amu v A I
| Molecular mass of nitric acid HNO3 is: I%JL/{?LKHNO3M1J/¥[? 44
60amu D 62amu C 63amu v B 65amu A
H| Molecular mass of phosphoric acid (H3PO4) is: \9\_/\3 LJL//JLK (H3POD i S0 6 45
; 60gmol-1 D 63gmol-! C 10@&81—1 B 98gmolv A :
Molecular mass of CO3 is: /f@ \\ :g.uL);;?LKCOz 46
50amu D 44amu Vv S f}\d) 40amu B 34amu A
| Gram atomic mass of hydrogen is: j@/ e kb 1. Kruky 47 |
1.008g v D 2. Olﬁgw\ \ C 1.008amu B 1.08amu A
| One AMU (atomic mass unit) IS lqﬁralent to: ?/‘_v_t'y:/;l,r:LJKAMUVQ 48 |
1.66x10-24kg D \\i 6x10-23g C 1.66x102#mg B 1.66x1024gv A
The mass of electron is equal to: ?4_/,14£J/JL s 1 49
1.66 x 10-2 amu D 548x10%amu v C 1.0089 amu B 1.0073 amu A
| The symbol of Avogadro’s number is: :ﬁz.fK/Jugﬁgl 50 |H
! AN D NA v C Z B A A !
Which one of the following results in the discovery of proton ?Jx&gmfuﬁ;,;ui’;zz:u/;uful 51 |H
| Alpha rays X-rays Canal rays Cathode rays :
2 0 S - 2 ; 135 A

Alpha particles Neutrons Electrons Protons
] L R B 54 20 : iy A
The concept of orbit of atom was used by: «:_L.fﬁz_ufﬂ'mﬂzﬁzu 53
Planck Bohr Rutherford J.] Thomson
uj ik D IR ¢ 509 13 B g B -z A
Who discovered proton? ?g;)g,;‘;u@ﬁ% 54
Rutherford Neil Bohr J.] Thomson Gold stein
59 43 B ik . g Bz ) Jei .
Who discovered neutron? ?g;)gJ;LJ(w};j 55
Chedwick D Rutherford C Bohr B  William Crooks A
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I. .I
S Ll o S
Canal rays are produced in discharge tube due to: u@pakcﬁy org%o u*dyw/uu/u*_,y@m 56
[onization of gas
Excess pressure of Cathode wiolaciilas / Anode
b e O s OfL S B s B
el L Z il gt ' '
’ IR 4
Father of nuclear science is: :%L"L?L«;J/?LKU:JV/;K‘{ 87
J.] Thomson Max Plancks Rutherford Neil Bohr
e PP L B 7 N Ay | P Y. &
Who discovered cathode rays? ?uf/gﬁg/;é_u/zﬁﬁf 58
Neil Bo}}r . Sll;::\(cl(ﬂizm . John I?alton . Goldfsteiil
S TIA Lﬁ/ﬁ:/ v LJ‘)BL-JL? e
Charge on cathode rays is: :g_bﬁejtgégjjﬁf 59

[onic bond 4l £¥7 D Neutral J/ C Positive x.Jy B Negative r,:é v A

Which of the following particles have more

penetrating ability in matter? Sl bl Sed pobie e B e ofe i 60

Alpha particles Neutrons Electron Protons

] D IR - s 5 4 B i A

Charge on neutrons is: e trnlilbgchsy 61

Partial positive None Positiveq - Negative
er P G © 0 adD B e A
© :

Charge on atom is: ) \\\O e bnlilesf~ 62
-2 -2 D Neutral J/« v Cr K u@gaﬂve & B Positive .2 A

Which one of the following shell consists of thi \ subshells? ?;.J-"'ﬁ'{,fqvffi,ifa.utvn 63
MshellM-JX v D L shell L- 5\? NshellN-JX B OshellO-Jf A

The p subshell has: \\ _é.d-”&"‘f_/P 64

Four orbitals T\Eé\e orbitals Two orbitals One orbital

ey DI o rsife E SR B L prg A

How many electrons can M shell accommodate? ?ugélri;}gfzfutdfM 65
32 D 18V C 8 B 2 A

How many electrons can N shell accommodate? ?@ikﬁ;}?ifgﬁfN 66
32 v D 18 C 8 B 2 A

The number of sub shells in N shell is: :%Jﬂﬁlﬁquu:fN 67
5 D 4 C 3 B 2 A

How many electrons can P shell accommodate? :ujé’.mﬁm’s}glut‘ﬁ..,wP 68
18 D 6 v L 4 B Z A

Which of the following shell consists of four sub shell? ?,f_.‘}’f’,;):.ﬁ_,/,flgdfu;fc_uﬁw 69

NshelNJv D MshellM(E  C  LshellL £ B KshellKE A
Of which noble gas, chlorine attains the J»/@'J,/g JJ“/J;’J/uzygwéé_/J”bus/ﬂluﬁ 70

electronic configuration after attaining one

electron? ?é-")«/( Sl

Krypton u#./ D Argon us T C Neon yx B Helium ﬂz’ A
General Electronic configuration of carbon family is: :ﬁ;ﬁ/‘f’/..éf”gld/o/ﬁg/./( 71

nsZnp4 D nsZnp3 C nsznp? v/ B nsZnpl A

Which molecule requires two electrons to d”*/’/z"f?’}/ig’”éLZ—/J;JEJ%U;J/J!..QM—U[ 72
complete its valence shell?

| Y L [ S [, (T T ] e [ ) e (e I ) ) o () T (] [ Y | Y o S e ) ) | )T (| Y (ol ) (| Y O (Sl () ([ Y | ) ) [y ) [ e ) ) ) [T (e Y e ) ) [ ) [ ) ) [ S ) S T ) o o | S S\ e T S o) | (e T e o S o SR S ) T [ 1 [ (/5

e e e ) [ (] e [ [ [ e i (] e [ [ ) oy ([ [ [ e [ o ) | (] i () [ o ] i ) ] [ (] () [ i [ (o) ] i () ) [ (] () [ ) () ] (e ] i o) () o (] e e ) i ) (] Iy [ [ o ] ) ey pl (] i ) (] ) (] oy o (] g S [ g O o o S ) () (S [ g ) A ) e i ] ) e ] [ i ) s o () e s ) R [ i i (o

?%
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BF3 v D NH3 C 02 B N2 A

The number of electrons in the valence shell of noble gases is: ?ugé‘_m';}?liu.f}?ﬂaéﬁfjj 73
2or10 D 2 or 4 C 20r6 B 2or8 v A

The number of sub shells in K shell is: :‘aéml,&'d/f_,wutfl( 74
4 D 3 C 2 B 1V A

Atomic number of calcium is: :gﬁ/ﬂ%fy 75
20 v D 19 C 12 B 11 A

Electronic configuration of hydrogen is: :§.ﬁ/€r_ﬁ}gld/u%yﬁjl, 76
1s1 D 1s2, 2s! C 1s2 B 1s2, 2s2 A

Electronic configuration of halogen family is: ‘Lﬁ»/ﬁ..f:/?d&fjk 77
nsz.nps v D ns2.np* C ns2.np3 B ns2 A

How many electrons can K shell accommodate? ?ugiwj/ﬁ?l&fuifl( 78
32 D 18 C 8 B 2V A

ngg}; il;laf[iﬁzlls)c;’c(;)}ge is used for the diagnosis of ?‘Lt‘l?g‘.)t”'éLﬁu(/fuﬁ(eg«;:juizuﬁ’/ 79

Phosphorous-32 Strontium-90 lodine-131 Cobalt-60

32-U b D 90—(.?35}' ¢ 131-¢377 5 60-215 A

e e e ) [ (] e [ [ [ e i (] e [ [ ) oy ([ [ [ e [ o ) | (] i () [ o ] i ) ] [ (] () [ i [ (o) ] i () ) [ (] () [ ) () ] (e ] i o) () o (] e e ) i ) (] Iy [ [ o ] ) ey pl (] i ) (] ) (] oy o (] g S [ g O o o S ) () (S [ g ) A ) e i ] ) e ] [ i ) s o () e s ) R [ i i (o

When U-235 breaks up, it produces: _u,,?é’_m,g:c_w}"‘LMZSS—{-‘-/g_,z

Nothing JFAftgr D Protons '/’i,u;, C Neutrons s+ B Electrons s/ A

Deuterium is used to make: ?iz_t'}’fdb‘:’“léj_iLb:gLu: OlCYZ%
Hard water Soft water Heavy watef\ Light water
J, D - c ooy g E A
193 sl /15656 i gL
The isotopes C-12 is present in abundance of: " g@/:i\c’ ?ﬁ:_t@gguﬁ;lﬁfc-lz_;i/’i'
0.997 D 0.989 &L@% 0.979 B 0.969 A
. S / o
[sotope _used to generate electricity in ngc%g\/ :gt’b&@h’*li&é.ﬂg&ﬁ}’ﬂw/;fﬁzfyﬂ!
reactor 1s: \Q} T = ? :
P-32 D Co-ﬁ_&%& SN i U-235 v B C-12 A
X\;};;cl?cgg‘)che following is used{/&c\;\p\@\q reatment ?:‘_rgywwééawéﬁfvuwzwem
. /\:\&
Co-60 v D ™ 1-131 C Sr-90 B P-32 A
Isotopes of hydrogen are: B IPT L Pad
4 D 3V C 2 B 1 A
Helium He2+nuclei are: =3 J_Lﬁ«; He2+p‘-"c_uﬁ:vl
Neutral particle ’ Gamma particle . Beta particle . Alpha particle 4
ﬁ/kd)){j ﬁjkk"ﬁ ﬁ)&ﬁ: ﬁ;gwl v
Mendeleev’s periodic table was based upon the: -fJQJJfJ’wJﬂL,@ﬁr
Gompletion ol 3 Atomic number Atomic mass Ele_ctronl_c
subshell D g C s B  configuration A
tﬂygﬁq / Gl a1 ﬁyﬁfgl
Long form of periodic table is constructed on the basis of: _c‘:.)BJJffﬂg/,;._ijGj)
Mass number Atomic mass Atomic number MERCE Cay
, D P ¢ o B postulate A
/Jl' JL 1 /71 Jﬁ’gu%;lztf

4th and 5th period of the long form of periodic

Y bs-l.f“..&. ."b)’...'T":
table are called: U:LU‘QZU’Z.E” Gt Furr S Spo Lok

Very long period Long periods Normal periods Short period <&
. . @ D . C , B A
L};ﬁ:J)jd}“J )1&_/}:.{}’ v )/gf.-d'zl: J‘i&[}
Transition elements are: Ll “““lgﬁ’-‘)lf
All metalloids D  Allnon-metals C All metals B All gases A

80

81

82

83

84

85

86

87

88

89

90

2

| Y L [ S [, (T T ] e [ ) e (e I ) ) o () T (] [ Y | Y o S e ) ) | )T (| Y (ol ) (| Y O (Sl () ([ Y | ) ) [y ) [ e ) ) ) [T (e Y e ) ) [ ) [ ) ) [ S ) S T ) o o | S S\ e T S o) | (e T e o S o SR S ) T [ 1 [ (/5
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I. .I
G e o el ‘ e Py 1%

Which chemist presented triads? cgpakcity.org %" ?‘“{ﬁ)géu"a’_uug{u/ 91
Mosley L_Js D Mendeleev ,ag,ug C New lands i’y B Dobereiner i+ A
Which chemist discovered atomic number? ?g&gj;//ﬂl.i_uuy@’( 92

H.Mosley L_»& « D Bohr /v C Rutherford s.#.,, B Dalton >*#} A
The base of electronic configuration was: d%;yd/ﬂ)ff_f;/?l 93
Atomic number Mass number Electron affinity [onization energy
/Jw; V4 5 /:;’JL 2 &ﬁ’flu,}?t & &)nﬁy"tff B
The horizontal rows of elements in the periodic table are called: :w&Mg;@'?:Jﬂuuﬁﬁﬂw 04
Arrangement -7 D Blocks o1 C Groups JerS B Periods iz v A
The vertical columns in the periodic table are called: W f Hb/d:/ Jif Ss 95
Arrangements ;> D Blocks J( k C Groups uﬁsf V4 B Periods J4 z A
The number of groups in the modern periodic tables is: 3‘LJ’JJJ:3JJJJJ"LQUA§L 06
8 D 12 C 18 v B 17 A
The number of periods in the modern periodic table is: e sl }%ﬁgﬂfﬁw;ﬁy 97
8 D 7V C 6 B 5 A
The first group elements of the periodic table are called: :wz_Mﬁ'liﬁféngfﬂw 98
Halogens Metalloids Alkaline earth Alkali metals
2k D X 1 ¢ metals ?-”"EAJM B L A
Alkali metals belong to: 9\_/\> :zﬁ:.&L’J.K}Utﬁ 99
Fourth group Third group Seco %EQoup First group
Y Y Y N5 Y N A

The second group elements of the periodi @ are 2 ik ﬁl&v,//;/;,*iﬁhﬁw 100

called: L>

| Y L [ S [, (T T ] e [ ) e (e I ) ) o () T (] [ Y | Y o S e ) ) | )T (| Y (ol ) (| Y O (Sl () ([ Y | ) ) [y ) [ e ) ) ) [T (e Y e ) ) [ ) [ ) ) [ S ) S T ) o o | S S\ e T S o) | (e T e o S o SR S ) T [ 1 [ (/5

e e e ) [ (] e [ [ [ e i (] e [ [ ) oy ([ [ [ e [ o ) | (] i () [ o ] i ) ] [ (] () [ i [ (o) ] i () ) [ (] () [ ) () ] (e ] i o) () o (] e e ) i ) (] Iy [ [ o ] ) ey pl (] i ) (] ) (] oy o (] g S [ g O o o S ) () (S [ g ) A ) e i ] ) e ] [ i ) s o () e s ) R [ i i (o

Transition elements Halogens Alkali metals Alkaline earth

POV ﬁ/ PN 5 metals #4181 -

The number of elements in sml;h@ iod is: e 4 fﬁjf-luﬁ,;ﬁz; 101
80 gy 3% B 18 A

How many blocks are there in modern periodic table? ?ujnguf‘ﬁ,.@’wéy 102
SiX # D Five ég C Four /& v B Three o A

The number of elements in third period is: :;L_)u;f ﬁlutgg,;ﬁ 103
18 D 8 v C 4 B 2 A

The seventeenth group elements of the periodic table are called: :ujz_Mu‘Viléll,:féJ{ﬂw 104

Halogen Alkaline earth Noble gases Carbon family

Jat 24 Y| metals P IIO41] - ey B e A

In which block of the periodic table do transition metals lie? ?@JL?J.L:Q:JL&JLJ?,@@%&;U 105
f D d v C p B A

The number of elements in fourth period is: Sl ._}'J;f'{luf%f:é.ﬁg 106
38 D 28 ¥ 18 vV B A

The number of elements in first period is: :ﬁ;;lﬂd/up:&ljfgﬁ% 107
32 D 18 G 8 B 2 A

The number of elements in normal periods is: te ol uP JH’IJ}%&JJt 108
32 D 8V C 10 B 18 A

The number of groups in modern periodic table is: :%;!JJJ;/(JJ;J?M,,W 109
18 v D 14 C 8 B 4 A

Lanthanides and actinides lie in: ?@L@Lguﬁ_fwu/)ft’lgmui’cﬁ 110
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" o
I f Block D d Block C p Block B s Block A ]
| The shortest period in the modern periodic table is: :;.ggﬁ){;quﬁfﬁwag 1 |
1st g v D 2nd | /s C 3rd I~ B 4th ¥ 3 A
| ofperiodic table arecaliogs TR erwhauRemtg £ oz fF s ieats 112 |
1| Verylong periods Long periods Normal periods Short periods [
haddS oV o by . haJit 4 Ik &
1| The 1st period in modern periodic table is called: :‘LMM&MJ&@M:M 113
Very long period Short period Normal period Long period
: 4o AS 2 ’ peky hadu ’ bats ! |
| The longest period in the modern periodic table is: :é.igwaquﬁfﬁwﬁg 114
7th Ui D 6th (£ C 4th G2 B 3rd A
| The number of electrons in the valence shells of halogens is: :;.JmlﬂJu,}?luﬁfﬂgéﬁﬂy 115 |
: 8 D 7 oF C 6 B 5 A ;
| How many groups are there in long form of periodic table? ?wlﬁvgfé'fgifﬁw_ﬂpsji 116 |
Vols 18 D w12 C #78 B =7 A
| The blocks in modern periodic table are: :wLxu/Qufqu@wuﬁL 117 |
i EA5 D Jo 4 C o3 B 52 A f
;I‘;;eegf(tre;ne left side elements (;f the periodic table are =u.?LM¢>f.+.lJ_b~,£lgquéL?ﬂ£J5~@’w 118
: Noble gases Halogen grou Alkaline earth Alkali metals :
. jﬁi D j/f u’g}? " metals /@\ﬂ&:‘%l B ey & .
The number of elements in the 6th period is: O%C\ﬂg?io ;‘4_,@' f":&lutgf,z; 119
f 32 7 D 22 @5@ 18 B 3 A f
The base of long form of periodic table iS:{,N«Q@ :;.),Q%deu@g/g.a?(/ujﬂ 120
1| Avogadro’s number Atomicﬁm@@\, Atomic number Mass number 0
; 045 D Q(@‘\\w ‘ At . AUl A i
| The number of elements in %@}ﬁ\\ﬁ‘%t period of long form of .f'”& . b w191 |
| periodic table: U IS s G L Sp STt I
Five £ D Four . C Three o* B Two » v A
JI;(I))\;\;;nany horizontal rows are there in long form of periodic qujwﬁ'&j'dzfdfﬁM:JT(JGf) 172 I
18 D 7 C 8 B 32 A |
:/l\(/)lgllzhgiz:? in long form of periodic table is called group of ?é_rMKuffJiggs;U[ufcﬁu’?‘% 123 |
] 18 v D 17 C 16 B 15 A i
| Law of octaves was presented by: U B TS 124 [
Mosley i _J» D Mendeleev i _ili» C Dobereiner ._~i5 B Newlands i iy A
| The amount of energy given out when an JM;&%@L&JI&K&/&)&"%WQ@' U!/b’g'~5¢(b:"~r"-‘ 125 |
1| electron is added to an atom is called: S
] Electron affinity Electronegativity [onization energy Lattice energy -
E 7 6 & 5 25, 20 Ll o | P B 2 :
Z\l/:;;igggaz:il;;?followmg halogens has lowest ?Ga(c:-w&,f‘fgﬁfg'd/ﬁr?u/c-ufiwfﬂ 126
lodine /357 V D Bromine ¢ C Chlorine cpf B Fluorine /.5 A
| Along the period, which one of the following decreases: ?;.Qﬁﬁ/zgujfa.utuuﬁggbgl 127 |H
Electronegativity Electron affinity [onization energy Atomic radius
&é@}}gf L &3:;1@,}?1 2 SAFAAT £ DI 4 A
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H| Point out the incorrect statement about electron affinity: S5 Ssle F Co20 9 128
[t is gradually It is gradually Enerev is [tis measured in
! decreased in a decreased in a ole ags):e q KJmol- I
group D period C At B KJmolt Fedur A
| cdeftnnnt, cdafGasis.y UGS e 5
1| Ionization energy of sodium is: % PakCiW-OrQ% :%gﬁtj.ﬂﬁftffd/ﬁ:jr 129 |-
496 kjmoll v D 419 kJmol-1 C 403 kJmol-1 B 377 kjmol-1 A
| Which of the following is a period in which ... Ihe LU e dpLbuf e Stz 130 |
| |- is decreased from left to right? v ind I
| Electro negativity Electron affinity [onization energy Atomic radius !
: E ri‘é. 5 D b ) b C 3 Y B i A :
' G i A =1 A9 EA= AT PSR4 .
| Electro negativity of fluorine is: :‘%&&.g}}gld};“;ﬁ 131 |
: 3 D 3.2 C 3.4 B 4 of A :
| Which of the following halogen has the greatest . . o il T !
| value of electro negativity? "4""”&"""""”&*"'{?’/'9 St Vs g sse
lodine ¢34 7 D Bromine ¢ C Fluorine y.*v B Chlorine o.# A
1| Electro negativity of chlorine is: ;%&{%?',;Q;Jwﬁ 133 [
I 3.4 D 3.3 C 3.2 V B 3.1 A I
I Atomic radius of carbon is: :g_J.gj_ﬁIKﬁﬂc;JK 134 |C
I 97pm D 87pm C 77pm Vv B 67pm A I
il /_(»\ . ||
1| Reason of increasing ionization energy in a period is: ﬂe\‘}\) :é.gsj‘&kigﬁilﬁftffuﬁjiﬁ 135 |H
1] Increasing the force . O@) | I
of attraction . & C\ﬂg\\i\
| between valence Ingiﬁilgfgf © 1(C creasing the Increasing the I
|| shellelectronand electrons 57:%?/ number of shells g number of shells I
I nucleus ~( . L2 “ L2 I
( 3 . e O S Sk SN -
I Lﬁf;;lﬁ:}giku’% JLJIJ”/""%’{@(%K? :
: o &S /\{\/N :
. Jlﬁbiu.‘.'::.«y’gfu’/uﬂ\/ (\\\\/'é |
An atom having six electrons@iixts valence shell Fo B 620 A (J’;J Uy & s 221608 2 4 136 |
| with achieve noble gas electron configuration :
H by: KoL 0
i Losing two Gaining two Losing all Gaining one I
electrons D electrons C electrons B electron A
] LS s A L st AN L/@JBU}}Q’,’V” S ey 2L 1
Considering the electrf)nic conﬁ-guration (?f J/uflf'?’:é,,-JuﬁJjézJZ—ﬁéfﬁQ/ﬁ/@L@}glinl 137 |F
| atoms which atom with the given atomic o o ;, I
H| number will be most stable one? ot v i I o AL
Twelve ».4 D Ten v C Eight 27V B Six £ A
| Octet rule is: e Jua s 138
| Attaining of eight Pattern (?f Picture (.)f Description of
] electronic electronic . )
[ electrons D . : C : . B  eightelectrons A I
! ) 037 configuration configuration s 29187 :
: Jr? 653 K1 4 i B 10 PEEE G eolosl s ¥ ;
I Transfer of electrons between atoms results in: :+C$43'Kf2Jj;}?1iuy;;£ﬁ.l 139 [I
coprdinate lcovalent covalent bonding ionic bonding metallic bonding
oD slnens © glnsiiv D Semz A |
I ﬂ&)f&.ﬁb‘@%:f&&jﬂ) < g % At arzors” At I
| Atoms react with each other because: :f[d}i/&gd/JVLL/uu{If:l 140 |
I They want to They want to They are short of They are attracted A I
! disperse attain stability electrons to each other :

mgs
@II!IL]II]IIiII!IIIIIIIIJII]IIIIIIIIIIIIIIIEIIIIl[III]II[IiI]IIIIIIII[EI!IJII[III]I

Please visit for more data: www.pakcity.org



www.pakcity.org D Class 9th: Chemistry Guess Paper

IIII[IIIIIIII[IiIlIIIl[iIIIIIII[IiIIIIII[IIIIII[II1|]IIEI1I1I1Il!llll!lli]ll[lllll

U'?"Llpl?/’{u u?&btffgyu\/ c_(zfd/d/fj/iofufw '_)'?Z_/é/(f’[d_/uugld

When an electronegative element combines Luu,-»auﬁvé_‘ﬁ,mm,ﬂ O»’WJ‘L,},,C,;Q,_{,_K}. 141
with an electropositive element the type of

bonding is: -{-—dﬂﬁjjﬁgu&-‘ﬂ
Coordinate covalent Polar covalent [onic Covalent
B3 . siksd )y ¢ ATV . By A
A bond formed between two non-metals is expected to be: _fﬁ,;m;?ii:wl,@uyﬂa:'/&:utu 142
Metallic Coordinate covalent [onic Covalent
L D sihofasiTs ¢ LT 2 2ibsd f b
A bond pair in covalent molecules usually has: _‘a%ifjﬁ-kg;ﬁruiﬂ{?w%:f 143
Four electrons Three electrons Two electrons One electron
s B D ir fE < P A Y < R

Which of the following compounds is not
directional in its bonding?

?%G’dﬂgaﬁgéu@ﬂ,:ﬁgu;c.ufj%w: [44

H20 D CO2 C KBr v B CHa4 A
Identify which pair has polar covalent bonds. ?‘LCWC;CL%}}(/’{%'L—J[JJ“:’GJJ 145
HCLs H20 v D C2Hz2.5H20 C N2.s H20 B Clz and O3 A
Covalent bond involves the: —e ket 146
Repulsion of Sharing f Acceptance of Donatio‘n ;)f
electrons D electrons C electrons B electrons A
KUdrkutss A9 EE~ Lo I K 1 ,-0; Ry
How many covalent bonds does molecule C2Hz have? f’e\f} ?§_bﬁy4;2g2fd;;?L€Csz 147
Five éL D Four /& C Th{? \@") v B Two s A
How many electrons does a triple covalent bond i &" ?wzf_yu,;?riu::cgq,[w 148
Only three (£~ D Four . % Six # vV B Eight #7 A
l/\él;;(i};n[‘zz{)l;nojsghe molecules has same tg{ﬁ of ?%fy/?fcgwgféqjtﬁﬁUfW:;?Lu:JJ@» "
Cz2H2 and Oz D CzH a{d% v b N2 and Oz B HCIl and O A
The chemical bond formed utual sharing

e bl S e S AEVL 5 P nd A1 150

of electrons between atoms is called:
Co ordinate

Covalent bond Metallic bond lonic bond
covalent bond D b 73 B I B e A
IS A g Al g Pt

If the covalent bond is formed between two 7 (W . do 4
2 » b. “,’ > * & 2 * b' b 1 5 1
same kinds of elements then bond will be: 'J”(JJ"C“V"'W:Q i L A1 Lk eda S i

| Y L [ S [, (T T ] e [ ) e (e I ) ) o () T (] [ Y | Y o S e ) ) | )T (| Y (ol ) (| Y O (Sl () ([ Y | ) ) [y ) [ e ) ) ) [T (e Y e ) ) [ ) [ ) ) [ S ) S T ) o o | S S\ e T S o) | (e T e o S o SR S ) T [ 1 [ (/5

e e e ) [ (] e [ [ [ e i (] e [ [ ) oy ([ [ [ e [ o ) | (] i () [ o ] i ) ] [ (] () [ i [ (o) ] i () ) [ (] () [ ) () ] (e ] i o) () o (] e e ) i ) (] Iy [ [ o ] ) ey pl (] i ) (] ) (] oy o (] g S [ g O o o S ) () (S [ g ) A ) e i ] ) e ] [ i ) s o () e s ) R [ i i (o

Dative covalent Metallic bond Non polar Polar covalent
bond D c covalentbond p bond A
Sk sd 5 A ilads Syt f lacdsd
Which one of the following is an ionic compound? ?ac_fcfglffjfflfufc;uti;‘&n 152
BF3 D NaCl v C CH4 B HCI A
Reason to form ammonium ion is: :%&Wijffiri 153
ch?a(l);r?‘i%a;r? q . Metallic bond = [onic bond . Covalent bond A
ok sd 23357 Rt AT ks
Covalent bond in methane is called: e brkleidy Ulﬁé_lggguﬁf 154
Dative 3 D Triple [/ C Double _t: B Single v A
The bond present in H-F molecule is called: ?cé.mK(r’J'/ﬁwuLt?gguﬁJ{?LH-F 155
Co ordinate Polar covalent Non polar [onic
Y BT I Jyet B 87 &

IIlIl]II1IIIII!IIIIIIIIJII]IIIIIIIIIIIIIIIIIIIIl[lil]II[IiI]IIIIIIIJ[EI!IJII[III]I
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[onic character predominantly appears in any bond if: :.,,z“;_t'tﬁqte}f/iffuifcw’fu/ 156
- The difference of The difference of The difference of :
| The difference of electronegativity electronegativity electronegativity
|| electronegativity is p Isequaltol7 . is less than g isgreaterthanl7 i
: Zero. C1.73565 25,9 1.7 G652 240 173565 & s 26 i
i PR Ay ;
I vl yzf/c;,lj vl e 0
H| The result of transfer of electron appear to: :‘4.%43' K&ﬁﬁ;}?wynéﬁi 157 |
Lo Qrdimie coyalent Covalent bond [onic bond Metallic bond
I bond D C B A I
| o S $ el Sy SEEFT e 3o e\ L :
| Molecule having triple covalent bond is: :?b@ggigq:fqﬁu‘:u’?dgﬂ 158 |
: CoHs D N2 v C 0; B Hz A i
| Covalent bond is a result of: e g kledsd 159 |
| Repulsive forces Sharing of Gaining of Donating of
1| between electrons electrons C electrons B electrons A :
K519 s o3 2 KL $50 201 g2 2y 2 K s 2
| e sond formed by comlete wansr o pyuus o P St 0 |
C(():\?a?éﬂrcll‘ﬁ)fr? q 5 Metallic bond - Covalent bond . lonic bond "
: Sl s TS Sl Slahss L LF T f
Which molecule has polar covalent bond? 4\ ?é.t'n:qujf/guid;;?l,u/ 161
f N2 D HCl v C \ B Hz A ]
| The number of electrons in the valence shell of chlori .%gﬁ)l,&.JfﬁfglLﬂfﬂjéd’j)% 162
; 4 D 5 &5 B 6 A )
X\Qflll;};mc:) Irfolgguf:?e . electzii/w T J@Jgu/ BRI = tdits 163
f o D 0 <>\> BF3 v B NH3 A :
Zﬁléitlgi)gs ggotr?]i?fOIIOWlng is th& \\\ st force e u, S oo At 3&-09'” L oke phit, 164
| Covalent force <:4ss 5 h\ﬁt&\r;g?(l;cular C Metallic forde St Ioni(f force A
5 i IR, Ui Soekgl 5
[ce float on water because: ?.:;,J/fu{,;,léég_b: 165 |
None of these Water iS. denser Ice i.s crystalline [ce is denser than
] . D than ice v C in nature B water A [
| cofesdl elnBlendls el |
va;ig?? of the following compound d(;es not dissolve in ?ufz.%dpuf&g%gvvfc-ufd%ﬂ 166
MgCl; D KBr # NaCl B CeHs Vv A
1| Boiling point of sodium chloride is: aﬂ_&!;ﬂ’u@’uﬁﬁy 167 |
0°C D 100°C C 1413°C v B 800°C A I
| Boiling point of water is: :‘aﬁlzﬂ’u{{&g 168
f 102°C D 101°C C 100°C v/ B 99°C A ;
Melting point of sodium chloride is: :‘L:.ﬁlg:,@f{gu%@y 169
803°C D 802°C C 801°C B 800°C v A
| Buing e formatonof chemicalbond which 53 52 fn ot 1 |
| Hydrogen bonding Wander walls Attractive forces Repulsive forces I
E jfbtu?ujfy . forces /'-U);Jlufiz;ﬁ < \/_7/:;}..(}! /’-’13;:”'%../ . E
| In hydrogen bonding: :Léﬁuijfcw?u,y’!, 171
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I. .I
Metallif: forces . Covale.nt forces c Ionic‘ forces . Inter;(r)r;gicular 5
BN Judedsy U8 AT I,
Hydrogen bonding is represented by: :.;_mggﬁwjfcw?ugt, 172
Triple lines Double lines Single lines Dotted lines
= SIS/ . = SIS . = IS . e IR -
Melting point of sodium is: :q..&élgu@’Kéjr 173
650°C D 97°C Vv C 496°C B 100°C A
Methane is an example of: :%Jtﬁadf;* 174
Dative covalent Triple covalent Double covalent Single covalent
bond D bond C bond B bond A
Stk o3 Y Sk sf U3 Sk v
Density of water is: :93;/:6“’3-5&/&& 175
-1gcm?3 D lgcm3 v C -2gcm3 B 2gcm3 A
[dentify the compound which is not soluble in water. ?é_uf4gfu£&gk5gu1‘;uidséz: 176
MgCl; D KBr C NacCl B CeHs v A

If the difference of electro negativity between L inmic 175 KC?P?,}?: c)vnéﬂil i
two elements is more than 1.7 then the bond ) . =

between will be: kU2l
Metallic &+ D Coordinate £x57¢ C Covalent 2:bsy” B [onic b7V A

If the difference of electro negativity between uv,,,_/_uuyﬁ/c_l 7L)/Ku”r‘“C /O!ul/»z:u‘““l“l»/ 178
two elements is less than 1.7 then the bond

between will be: , 9\”5 6 iU &
None u”’df D Non polar /':’cJL’ C % c\&_l/ B Covalent _#L;/\/ A
T e © Fopass g@ et TGP ELT S 1
0.2 D 0.15 0.1 B 0.05 Vv A
Metals are good conductors of electrl @ue to: :uggx}(,é@{lu@f}?u;ubd,fﬂj 180
Mobile protons Ha1< Metallic cations Mobile electrons
a:.,?:d/ﬁjs/,:J/L}” D \*%E Lmes L MLJ:/‘/L’&:(..@ 5 ag:Jf:}glJ/@f v s
Which of the following molecule is not triatomic? %.ﬂﬁt&lﬁ&;;ﬁu)f;uwl 181
CO2 D H20 C O3 B Hz v A
How many times liquids are denser than gases? ?uglﬁd/wa;g)wy{c./& 182
100,000 times 10,000 times 1000 times 100 times
100,000 D 710,000 ¢ 1000 &~ B 100 A

Gases are the lightest form of matter and their s 5 i 5
densities are expressed in terms of: ?%L“l?.l./ﬁlbJU"ZL*J(/‘/,,"”“)JU'-U.?JEQ/O@JML)-:{ L&
gdm3 v D kgdm-3 C gcms3 B mgcm-3 A
At freezing point which one of the following

coexists in dynamic equilibrium?

Sl SIS S S gesiy By 184

Liquid and solid Liquid and gas e Gas and solids
All of these U7, D R, C ' B A A
Solid particles possess which one of the following motions? ?%Jgégfr@/c,ufuuﬁﬁ;gu’ﬁ 185
Both B,C Translational Vibrational Rotational
LBt D motions C motions B motions A
. P2 S i of ofeefl s,
Which one of the following gas diffuses fastest? ?%J/(j'::?j’c_d % Jf J Se S 186

Fluorine /. D Chlorine ¢/.# C Helium ph." B Hydrogen >4V A

Which one of the following does not affect the boiling “ v P ;
. s S kI S iy Sy o | 187
pOlnt? dfu’/)*/{.h-f’{fua X/..'ZJ"(‘:—JU

'I
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I. .I
uital terppgrature o Nature of liquids External pressure Intermelecuiar
! liquid D . C , B forces A -
f Y- DATAIRY % _ , VL 9 )00 :
H| Density of a gas increases, when its: ‘?@ pakcity.org %" :Kw.,eg_&"’z&’;-jd/uf 188 |-
| Noneorinese | Volmelskept e Temperties
E S ?Q,&U[ﬁg, ety 2o q.t'-'ﬂ’i’:/f./j :
| One atmospheric pressure is equal to how many pascals? _é_t'm,l,:i‘/(/ng/‘:./?latm 189 |
10523 D 106075 C 10325 B 101325 v A
| The gas which has higher rate of diffusion is: e ol ic _,w:.«;,,@ju.{’jw’?w’:: 190 |
Chlorine ¢/.# D Fluorine ¢/ C Hydrogen 2.4 v B Helium K.Jf‘ A
The simplest form of matter is: :ﬁ;.;Jtpq}o;L«JL)L 191
Plasma it D Gas J{/ v C Liquid ét B Solid U # A
| Atmospheric pressure at sea level is: e bo S b Jds 192
; 750 mm Hg D 780mmHg C 700mmHg B 760mmHg v A f
| Puncture of tyre is an example of: e SOy ;..%K/’B’ 193 |
Condensation Evaporation Diffusion Effusion
| s D G C g B gy A |
| Which of the following gas diffuse more rapidly? ?ﬁ;.@/;;fjc,d -4 Jf Sofe iy 194
Fluorine (/s D Chlorine ¥ C Helium (J" B Hydrogen vtV A
| Gases can be compressed due to: \9\J\\ :ffgr@gg;/umf 195 |
Molecules are /Iore\ \c/es S No spaces
| Molecules has large Closil;;zrea‘:h 1R —— nggs&ggs
i b ;:i;wﬂ L ’ el e pofi?f /ﬁfé’w s LIELSE St nl L A A :
b *-'l«i \> et ded i et i
H| Instrument used to measure atmosﬁherlc pressure is: :%,JTUB,%L/':./?J/,%«&J 196 |-
Unit meter . E}F@s\mmeter . Barometer . Manometer A
: Hy e KN V2l ;
| Instrument used to measure pressure in laboratory is: e ST\ 2 Um0 197
Barometer Manometer Thermometer Hydrometer
: Py D v ; 7 B Py S -
| Densities of gases are measured in: ?‘a.t't?g/;wutu’*’gv(fyf’:iﬂf/ 198
mgdm-3 D gcm3 C kgdm-3 B gdm3 v A
| The instrument used to find pressure in laboratories is: e JTE S 20620 199
I y Thermometer Manometer Hydrometer I
Galvanometer s D Py C Py, B i, A
| The unit of pressure is: e LYK 2, 200
Gram rlf D Ampere ~ C Pascal f L V4 B Joule J# A
| On what temperature the volume of gas becomes zero? ?gﬂuﬂjr}.’.[bﬁfff?ﬁ./fjuj 201 |
-2730C D 73K C 173K B 273K A
H| One atmospheric pressure is equal to ......... torr: Setma ik HoSul 202 |
10325 D 760 v C 765 B 101325 A
|| In Charles law, k is equal to: :gc;t'ﬁ,(l/.ka;Uu’JJ[g 203 |
; D 1V C TV B % A ;
1| In SI, the unit of pressure is: RO, '"“.}lf‘/K/"’d,;: 204 |0
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I. .l
ms-2 D ms-1 C Nm2 B Nm A
In Boyle’s law, the constant quantity is: te I A 22w Fiy 205
Mass Ul D Temperature % | C Pressure 2 B Volume (s A
The value of absolute zero is: :‘a.éuf:‘(,):,ﬁr.__.{,i 206
100°C D 0°C C 2:73.15°C B -273.15°C Vv A

In the evaporation process, liquid molecule
which leave the surface of the liquid have:

—-é—JﬁJL‘)’uzdlfrf/fd/éh)’ggbﬁﬁﬁg{}gl 207

None of these Very high energy Moderate energy Very low energy
Ut P Gmesd | S s ; St e A
The vapour pressure of a liquid increases with the: ?%wz_‘//i/j/;.: §EL 208
increase in polarity of increase in inter increase in Increase in
molecules p molecular forces temperature B pressure A
e i LIt ArdT L i Lt e i Lt gAY e Uit 2y
Freezing point of acetic acid is: e SENY by PN 209
17.6°C D 16.6°C v C 15.6°C B 14.6°C A
The speed of evaporation when we increase temperature: :;.Jlgﬁj'ﬁjd/ﬁ/%gla.'gwg./; 210
No change Remains same Decrease Increase
t"/..d«f"/ 3404 . 2y b K/ & SRV a
Density of water is: :‘LJ"%-EJ&L: 211
1.0mg.cm-3 D 1.0dm3 C 1.0cm?3 B 1.0gcm3 v A
Vapour pressure of water at 100°C is: :;;-_,?.4/5.5&{&2,;100% 212

760 mm Hg v D 580 mm Hg C 360 mm\T/@I‘g”> B 140 mm Hg A
During evaporation, the molecules which @B\ﬁu‘)u'uz :&”fgd/dt/'!ﬁb’u*djﬁu’ eyt 213

escape out from liquid surface have:

) ] T ) e ) () A (o ] e () [ [ ) s ) ] (s ] iy ) (] oy (][] [ ) e s (] Iy ) [ () [ ey o ] iy o) [ e ) (] o (] o g S g ) o i ) i (e S S ey [ i ) [ ) ) (e [ ) o ) A s S ) R [ i s )

| Y L [ S [, (T T ] e [ ) e (e I ) ) o () T (] [ Y | Y o S e ) ) | )T (| Y (ol ) (| Y O (Sl () ([ Y | ) ) [y ) [ e ) ) ) [T (e Y e ) ) [ ) [ ) ) [ S ) S T ) o o | S S\ e T S o) | (e T e o S o SR S ) T [ 1 [ (/5

No energy Very high energy J ?E?I erate energy Much less energy
Gﬂuﬁ'} S/ u S osl et “5// B < value &jf&yn v 8 J./’lf e =
Density of aluminium is: K\\O\Q < .~5J(5~H)£l 214
2.7gcm3 D 2 6@ C 2.5gcm3 B 2.4gcm3 A
Which of the following is crysgilwe solid? ?%,u’;ﬂf‘d&/vd/c,wul 215
Glucose j5# v D Glass S C Plastic &4 B Rubber . A
Which one of the following is not amorphous? ?ia.u:ﬁ_/ﬁu’.’/;ﬂlu/c_g:ul 216
Glucose s5¥ D Glass & C Plastic —£-4 B Rubber 7, v A
Bl | e is an example of amorphous solid: :&dl:"»Jj’JW}JL{J. ........ 217
Glucose Plastic Diamond Soziium chloride
: ¥ D Y - =2 B ks A
Concentrated solution of common salt is called: :é.mfu:’}fﬁ,}'/fhff'(b 218
I Chalk solution Jelly Paints Brine
] 6L D 2 ‘ U B Fu v A
The example of universal solvent on Earth is: :;.J@J&k,ﬂrd/zﬁg/;:uﬁ) 219
Ether ~f D Ammonia (¢ »*f C Alcohol J’J, B Water Jg V4 A
| Which of the following is not an amorphous solid? ?é_uﬁ’ujmué’vc)f;.uﬁ‘_b@» 220
| Sodium chloride (s Glass Plastic Rubber
| e ’ s - £y ° 2 :
The example of true solution is: :‘LJD‘AJJ#J 221
] Ink in water Soap solution Tooth paste Starch solution
E SR Y Kl . Lt F Y 2 Sk
| The compound which is used as a universal solvent is: e oo b Lozl Vi 2kl 222
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I. .I
Benzene . D Alcohol ¥ C Petrol Js & Water f}g B A
| The minimum components of a solution are: %pakc-w OTQ% :‘_g‘meﬂiﬂCJ’}‘ 223
Four J D Three o C Two » v Five ég A
1] The simple method to differentiate between solution and b e e s owd o 5L 224 IF
; pure llC]llld - .‘a..d“/’u:/o)VKL/(d/ u:dl.udlw)lgf}"“ E
I Halogenation Hydration Distillation Evaporation I
i & .0 D & C & L B & A |
I u’:ff)l.:f Ot S 3 O TR I
I Solvent in soft drinks is: :ﬁ:__zzzjyﬁfﬁ&)r 225
0il & D Milk 2 C Water dg v B Benzene ¢ = A
| Brassisan example of solid solution: :;.Jt‘»d/u:’#uﬁﬁ: 226
0 Zn + Al D Zn+Cu v C Zn + Fe B Zn + C A I
1| When a saturated solution is diluted it turns into: e bt I b ekl P e fice 227 |
I Concentrated Unsaturated Supersaturated I
I None of these . . . I
: 1 D solution C solution B solution A :
] I S T EE I TS ]
H| Mist is an example of solution: ?%J&JJ}‘JA&»; 228 |-
Gas in solid Solid in gas Gas in liquid Liquid in gas v ]
i 7 5 D C 7 7 B p A B
: S # S A A ;
Which one of the following is a ‘liquid in solid’ solution? ?;_él.uf‘j;ﬁ’u:’}’bdufa,ufgl 229 |
Fog " Opal : Butter ?\\5 " Sugar in water i
: s Lty o, &V\ Sed :
| Which one of the following is heterogeneous mixture; \\x\@ ??i{ﬁjfﬁu{au&j}aﬂ 230 |
Sugar solution 5 Milk of magnesia Cﬁ\) Ink ; Milk A
E J}L’K/C’ L»m?._ﬁlu@\/ /ﬁj\ dL«u A E
| Mist is an example of: ?édtﬁ»chﬁyu’KM 231 |
Gas in solid 5 = Gas in liquid . Liquid in gas 2"
f At | oAU IR :
Butter is an example of: :é_JL‘&JJ’ﬁ.rJJ 232 |
Solid in liquid Gas in liquid Liquid in solid Liquid in gas
s b 1 D 7 5l C ] b B ] 7 A |
; U U WP St ;
Alloy is an example of: ?%JL"?JJ;L”J/Z_UI 233
Liquid in solid . Solid in solid 5 Solid in liquid . Solid in gas A
; Sewru# SuPBuA Y Susud Surud :
1| Which of the following is an example of solid in solid solution? ?‘C,J@»d/u'ﬁufgjﬁj#vuf;u:ul 234 |C
Dustin air «-5 %1 D Butter u"c C Fog .z B Opals sl f A
| Opal is an example of: e JeJs 235
: Gas in solid Solid in solid Solid in gas Liquid in gas :
I # 5 D 5 b C B 1 7 A 0
: U JELUE SELE Swtt ;
| Types of solution are: :u:c(l.ﬁ’fJ)ﬁ# 236 |
Ten > D Nine ¢ v C Eight #7 B Seven =\ A
H| Air is an example of: ?;.JL":'JJ#JKM 237 |
I Liquid in solid . Solid in liquid - Gas in gas . Liquid in gas A I
: Situ JE U Anv St ;
Which of the following solution is an example of liquid in liquid o BB e S 238
1| solution? : I
! Butter D Alcoholinwater C Mist B Fog A -
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I. .I
o FAsd, v A oy
Smoke in air is an example of: e JeuZs i 239
Solid in solid Solid in gas Gas in liquid Gas in gas
SUFEUS D gurady © sAzd P IO
The example of liquid in liquid solution is: :;.J@‘Jj#éwiét 240
Opals Butter Air Alcohol in water
Ao B N L P B vl uﬁ&g -
The example of liquid in gas is: I%J@Jél.d’:u—f 241
Smoke in air Fog Oxygen Air
NPy el 0 IRV 4 . uf:rfuﬁdg B | 3¢ i
Concentration is ratio of: ce e 242
Bothaandb Solvent to solution Solute to solution Solvent to solute
Udssd Y SF e wndl g SF e sy 8 Sisdye soud ‘
Which one of the following solutions contains more water? ?;.L"m;g)&gui’j#u/c.uﬁgl 243
0.25M v D 0.5M C 1M B 2M A

[f 10cm3 of alcohol is dissolved in 100g of
water, it is called:

e b I F Pl 310em AL /100.S 244

%v/v v D %Vv/w C %om/v B %m/m A
Molarity is the number of moles of solute dissolved in: i S re s dwl I Lok Jv 245
1dm3 of solution 1 dm3 of solvent 100g of solvent 1kg of solution
AAm 1LY D 2ldmd Lo J4r1/100L ¢ @’\”’i B S SELL T A
5% sugar solution means: Q\ Sl pe gL SE5% 246
5-gram sugar is 5-gram sugar is X ’\Lﬁ%l%ugar is 5-gram sugar is
dissolved in 95 dissolved in 105 p \@olved in 100 dissolved in 90

grams of water p 8rams of water >—grams of water p  grams of water A

S SEe S5k /95 ASS LS 10{@&/ 504311100 SEp /5190
<dS L J«&{é‘ I S LN < JSS

The number of moles of solu olved in 1 g i o .
dm3 solution is called: &S e QIS I Lo §§ S S+ 1dm3 247

Suspension u"’“"/ D Colloid" vy C Molarity \/&g,» B Solubility s¥x» A

D [ (] e s e [ () [ ) e [ s o (e ) ) e e o [ e () [ i (] ) [ ] [ () [ i (i ] i (] [ [ () ) i ) ] () [ [ () ) [ (o ) ([ i G ] i ) (] ) (] ey o ] iy [ [ g [ [ [ (] i Gl (S [ e [ o [ (] o i ] [ e ] s i ) s [ () A i ) A g S O e ] O i [ O ey [ ) iy ) s o T i £ o iy [ v

| Y L [ S [, (T T ] e [ ) e (e I ) ) o () T (] [ Y | Y o S e ) ) | )T (| Y (ol ) (| Y O (Sl () ([ Y | ) ) [y ) [ e ) ) ) [T (e Y e ) ) [ ) [ ) ) [ S ) S T ) o o | S S\ e T S o) | (e T e o S o SR S ) T [ 1 [ (/5

Concentration is a ratio of: ?LMJJ/ﬁ;’/ 248
A and B both Solvent to solution Solute to solution Solvent to solute
: D - C 5 B A
u:’m....«/:lJl Jc/}L“c;.&i:.ﬂr Ju’}"‘c....’:«r'..r J&f“rc_dﬁ;)r v
The number of grams of solute dissolved in 100 @‘{ég-ﬂfd‘f/'"//moLdﬁﬁl“fi'ﬁf’wf/"'jt;&f”’ 249
grams of solution is called: e b
Volume/Volume Volume/Mass Mass/Volume Mass/Mass
D C B A
ﬁl)/ﬁb JL/(:JI: K'J/JL JL/JL\/
If the solute-solute forces are strong enough JUst b ol e ad Sedomedy i) edy-asde J1 250
than those of solute-solvent forces. The solute: .
D]SSO.IV?S D Dissolves slowly Does not dissolve Dissolve readily
precipitates D 3 C ' B Y
U.?Z;fﬁ-ffjﬂ'?-t'ﬁf d‘-t )’chc“_-.f»*zl L}’EJ:‘/J? %L o i
Which one of the following will show negligible Y s, 751
effect of temperature on its solubility? L YR
NaCl v D NaNOs3 C KNOs3 B KCI A
1| [ molar sugar solution is more concentrated: Ce bl p ol d I EKSE 252
I 4 D 3 C 2 B 1 A
1| The compound which does not dissolve in water is: :L“ﬁu.?;d’uig}gz%%; 253
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I. .I
! CeHe v D CuSO4 C Naz2CO3 B KCI A
| Which of the following dissolve in water? E’@ pakcity.org %" ?c‘;t'l?ﬁJPJJgWQ Lol S5 00r 254
Petrol Js = D Benzene J = C Ether ~i B Alcohol J-’Jl v A
1| Tyndall effect is shown by: _q.t'/a sbrkelE e 255 |0
i Chalk solution Jelly Paints Sugar solution I
i - D R s B s 7 A I
i TS &£V o TS _
1| Tyndall effect is due to: ?é_c.g;‘_/:fé%ujﬁ 256 |-
| By passing of rays By spreading of By not spreading By stopping the I
of light rays of light of rays of light rays of light
| odoSlurdss D Luionedssy b 2 Fluredyy B odElureds s ;
j — C——»?’d/\/ c:..,?ﬁd/z'_yz :
The example of suspension is: :?J@Ju%‘:/ui‘d,}@; 257
Tooth paste Jelly Ink Milk of magnesia
[ o b D C - B s sCa AW A i
il Ln Y Jf B2 .ng..v?‘..zl A v i
| The color of concentrated solution of potassium permanganate is: :§.L";«zj,f€cf:l"f/£ (: 'y 258
i Shiny yellow . Dark purple s Dark green . Dark red A I
] sl 4% SN g4 LA :
| The example of suspension is: :%J@Jj‘”.v/ 259 |C
Paint wz v D Milk 252 C Blood v~ B Starch .t A
| Milk of magnesia is an example of: ,,9(%?\ ::‘_JL";'@,&?JTJ 260 |
| AN |
i Suspension Colloid ution” Solution I
j D ,, C B : A :
| I s b |
1| The example of false solution or colloid is: :Q.JB‘JJJ#JYU/QJ:VJG 261 |-
I Salt in water Sugar in water ;;’7;\ > Starch Paints I
j - D ) Y B ) A :
_ LUy 4L, L\ A Gt o ;
I s \\w o e I
| The example of colloid is: \\\/ e JBdi v 262 H
] Chalk in water " lemagnesm . Paints . Starch g I
] Sty ST U IR ;
SJEE‘EFOChemIStFy is the branch of chemistry which deals :%J/dyﬁ%éwd;{};g@mdd}_{ 263 |F
Metals and non Electr1c1Fy 4 Solute and Carbon and its
i metals ienice solution compounds i
I ,, ) D reactions C " B P A I
: /L‘:(;)Lﬁldd Pgid/gﬁ‘{»i(:ﬂ‘/ﬁﬂl ¢/ sl sy :.«L-'//LJUJI@JK :
1| The branch of chemistry which describes a 3 ok /ubu uLerCl S0 S 52 28 s d’dfjj 264 |
1| relation between electricity and chemical 4 I
|| reactions is called: -l e
| Industrial chemistry Electrochemistry Inorg.a Hie Orga.mc
: i D A0 C chemistry B chemistry A :
I e b 6;{(,@';}7@1 d;/.f/_ﬁji'i' i
| Oxidation process consists: :;c_-_ma,fiﬁ%/f 265 |
] Addition of Removal of Addition of Addition of [
i hydrogen D electrons C electrons B oxygen A I
: s 6P LK Jr2 655 28 I KF T i
I The oxidation number of chromium K2Crz07 in is: ?§_t'ﬂg/ﬁfngK(55/uthCrzO7 266 |-
I 7 D 14 C 6 v B 2 A 0
I The oxidation number of H in HCl is: ‘L./'IJ:J',“V‘KT H <HCl 267 [
] 1V D 2 C -2 B -1 A i
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I. .I
The oxidation number of all elements in the free state is: :;ﬂ;.t'x/ﬁ%@(ﬂ{l(u"uﬁdwﬂ 268
0V D =2 C 1 B -1 A
The oxidation number of hydrogen in metal hydrides is: c_l':’)"/"/gf,vfl K A\ o\ 269
-1V D 1 C 0 B -0.5 A
The oxidation number of oxygen in per oxides is: :ﬁ-_m/ﬁz/awr’mgm@ 270
-2 D 2 C -1V B -0.5 A
The oxidation number of nitrogen in nitric acid is: :é.l:’x/:}u"t%ﬁ?d?:f/tui IAJSFE 271
6 D 5 C 5V B -5 A
The oxidation number of sulphur in sulphuric acid is: :‘Lvﬂ/ﬁj/w}“ut oS | 272
-5 D 5 C -6 B 6 v A
Elé;eoz);;c:latlon number of chorine in potassium chlorate :?m/ﬁ%{wd‘:ﬂgﬁ qjﬁffe;KCIOg 273
-1 D 5V C -2 B 4 A
In the redox reaction between Zn and HCI, the FA T LSS ot n L S i 65 274
oxidizing agent is: ?cc-t-ﬁu[_%,
H2 D Cl- C H+ B n A
zltitsgfieca‘ﬁ:;h reduces the matter giving :‘C.JU;'(‘L-}/J;";JJJ// W Pz 2 275
Dehydrating agent Coloring agent Reducing agent Oxidizing agent
N2 w1 X Ll stifuiy |B ot | B
Formation of water from hydrogen and oxygen is: Qc_ujldzyufvgdl.c,ffl BT 276
Decomposition Neutralization Acid-base reqtggn Redox reaction
J:l’” s B3 L f!dﬁ@,} ZJ : FEibaf 1t .
Addition of oxygen in chemical reaction is called: &« a_t'ufdr"w’_fl m L FEIGLL 277
Decomposition Neutralization k@(g base reaction Redox reaction
Fak D FIn by Hgz-ou 0 Hesy 8

Which of the following does not occu mg d,,lf(c_uﬁdjcﬂuu,}éfg¢du,fjl HSadF, 278
the formation of water by h/}(d?@g n and

| Y L [ S [, (T T ] e [ ) e (e I ) ) o () T (] [ Y | Y o S e ) ) | )T (| Y (ol ) (| Y O (Sl () ([ Y | ) ) [y ) [ e ) ) ) [T (e Y e ) ) [ ) [ ) ) [ S ) S T ) o o | S S\ e T S o) | (e T e o S o SR S ) T [ 1 [ (/5

e e e ) [ (] e [ [ [ e i (] e [ [ ) oy ([ [ [ e [ o ) | (] i () [ o ] i ) ] [ (] () [ i [ (o) ] i () ) [ (] () [ ) () ] (e ] i o) () o (] e e ) i ) (] Iy [ [ o ] ) ey pl (] i ) (] ) (] oy o (] g S [ g O o o S ) () (S [ g ) A ) e i ] ) e ] [ i ) s o () e s ) R [ i i (o

oxygen? @Q; b0
Hydrogen works as Q}) Oxidation of
an oxidizing agent Oiﬁgsg‘giisns - Re(;;‘;gg: of . hydrogen R
e B PO S A R L G
é.d/(‘&;u—" \/ ‘ ‘ =
Removal of electrons is called: :‘LVW/&,IJ.I{?:}?I 279
Hydrogenation Hydration Reduction Oxidation
Y Y. P B sty B
Addition of electrons is called: :?rMJr"’Kw/*?l 280
Electrolytes Redox Oxidation Reduction
o s A . U936 £ ST . o G ol a
Spontaneous chemical reactions take place in: ?ﬁ;t'nuffu’(fgl&/ﬁm;é_ﬂgmf}l 281
Downs cell Nelson’s cell Galvanic cell Electrolytic cell
e 4 3 o N A R - R
Which one of the following is not an electrolytic cell? ?ufﬁ_ﬁj,/ﬁglufa,u:dj@; 282
Both a and c Nelson’s cell Galvanic cell Downs cell
Udslod B 0 : J b 5 S A
Which one of the following is not an electrolyte? ?.:;Jf_:fm}glu;fuﬁdj:@» 283
Socium chloride Lime solution Sulphuri_c aid Sugar solution
solution D . C solution B . A
IR s LY U SO S

IIlIl]II1IIIII!IIIIIIIIJII]IIIIIIIIIIIIIIIIIIIIl[lil]II[IiI]IIIIIIIJ[EI!IJII[III]I

Please visit for more data: www.pakcity.org

2



www.pakcity.org D Class 9th: Chemistry Guess Paper

IIII[IIIIIIII[IiIlIIIl[iIIIIIII[IiIIIIII[IIIIII[II1|]IIEI1I1I1Il!llll!lli]ll[lllll

Nelson cell is used for the preparation of Z,uc.t'WULMiZa_//wm_ﬂm’viu/d“u’b 14
caustic soda along with gases. Which of the

Which of the following method is used for the
preparation of sodium metal?

e bl Uil LSS lr s b e s 295

| following gas is produced at cathode? e Qi A sl e gt

i 02 D O3 C Hy v B Cl; A

| Which of the following is not an electrolytic cell? ??ﬂjvéj,}?w@/;,utdmﬂ 285
A and C both Nelson cell Galvanic cell Down’s cell

J#lsl . Jeat s NSV, B Jo o i
Example of strong electrolyte is: :;.J@*J;gu,}?’m;-}w 286
i NaOH v D CeHe C CaOH, B CH;COOH A

| Which of the following is not an electrolyte? ?%egu,}glvc)/c_uﬁd;'&» 287
Urea . Benzene " Sugaf SOlli.tiOI] . soc?i?llrlilti:(;ﬁo(;fi de | 4

i " i e SR E s

Anode of Down'’s cell is made of: :cat'xtzjjglwf*)sli 288
Zinc &’ D Graphite egug/\/ C Steel J.'.ﬁ/ B Iron ys7 A

| Example of non electrolyte is: e Jedesu Bt 289
E NaCl D NaOH C Sugar v B CH3;COOH A

| The types of electrochemical cells: wru’;d/}:ﬁ,;@ 290
Five ég D Four . C Three & B Two s Vv A

| Weak electrolyte is: s U AL 291
CH3COOH v D H2S04 C NaOH}/ A B NaCl A

| Which of the following is a weak electrolyte? \?—)\kﬁ RO Sl el 292
i CH3COOH Vv D HNO3 C ) \:i;\) B H2S04 A

| Which of the following is a strong electrolyte? @)% Sl Py e Ll 293
Benzene Pure solution 9?;,\ & Sugar solution Fgluion ot

o D @ - B cclmmoe salt A

j L J’b Jdl" N I FhE Lo

Aqueous solution of ...... is not a ir electrolyte. :‘g.utfh:fm/*?u?'wuﬁkffgl& ..... 294
: Ca(OH): v D \/ 2S04 C NaOH B NaCl A

=
| Y L [ S [, (T T ] e [ ) e (e I ) ) o () T (] [ Y | Y o S e ) ) | )T (| Y (ol ) (| Y O (Sl () ([ Y | ) ) [y ) [ e ) ) ) [T (e Y e ) ) [ ) [ ) ) [ S ) S T ) o o | S S\ e T S o) | (e T e o S o SR S ) T [ 1 [ (/5

Electroplating Galvanic cell £ Down’s cell Nelson cell
Gk, D Vs L B B F¥ -
Pure water is an example of: :q_Jt‘fJgfLé 296
Non electrolyte Strong electrolyte Weak electrolyte Electrolyte
Seanory P e Seanps P Sesus A2 A
Aqueous solution of NaCl is called: ?:z:.nguﬁ)nyflKNaCl 297
Brine solution Carbonated solution Chloride solution Starch solution
Fhiuy D G C Gk B Ghae
...... is obtained from molten NaCl e bbbl NaClLyzéi 208
None % Jf D Both yss» C Sodium metal J* tiv B NaOH v A
1| - is a non electrolyte: :g.egu:}?lutug ...... 299
H2S04 Solution Sugar Solution NaOH Solution NaCl Solution
} o+ H2S04 D TEIEY ‘ J#NaOH ; ~ J#+ NaCl A
The example of non electrolyte is: %pakCiW-OTQ%O :;.J@J&;U;}?rut 300
| CeHe v D H,S04 C HCIT B NaOH A

Which of the following metal is used for i 3 . e
galvanizing? ?é'dL?JJL’M'é'LJ/L"&(L){VQGU/‘:—'U’:J.J?JM

'I
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I. .I

In v D Cr C Cu B Fe A

Gas which is collected at cathode is called: :%J%O@&Kf{:j};{ﬁﬁ 302
O D Hz v C O3 B Cl> A

The formula of rust is: Ce S S 303
none ¥ ¢St D FeOH3 C Fe203 B  Fex03nH:0 v A

The most common example of corrosion is: ?%JU/JC‘*(‘EL_/‘JQ?:/ 304
osngorn L wneorion S

L0 E5d I Ef USSR 2
The mothod of deposiing of the lyer of 00 o gL F it 4L 5
Oxidation Electroplating Corrosion Reduction

Ft D algy C it B 2, A

Metals can form ions carrying charges: ?Q,?Lb:é/}lgU'JJTLC)[ * 306

All of them ¢!, v D Tri-positive ji:)&él) C Di-positive }2:)1.:815 B Uni-positive .é:)w A

Which one of the following metals burns with a il 2 oW _ 8 Y
brick red flame? ??JbﬁL’L&‘JLJ/{.L!V/(JWJ’:UJ[::-J:M

Calcium (..ﬂo-’(\/ D Iron /7 C Magnesium B Sodium (%3s A

Sodium is extremely reactive metal, but it does not react AN ;
with: g _d/ﬂ&gdjfg’g%d’:}gdjwéjy 308

Phosphorus 5 Sulphur : Nitrogen R Hydrogen i
JV&JJ}E’”G JL-‘L/'L’ \/z;v’l/cf,gfj/‘L‘\5 jv.fiu’ui’
Which one of the following is the lightest metal? L) ,Alu[uug/- /duu/ﬂ‘;u‘ul 309

Sodium v v D Lithium ("J C M@@é\ﬁ/um = B Calcium ffk’( A

Pure alkali metals can be cut simply by knife C/s B A e 0 e
but iron cannot because of alkali metals havgf\ v ”JJ"J:/’(U"'/(‘L"gl?wﬁ"’%/)“:«ﬁ'udb

| Y L [ S [, (T T ] e [ ) e (e I ) ) o () T (] [ Y | Y o S e ) ) | )T (| Y (ol ) (| Y O (Sl () ([ Y | ) ) [y ) [ e ) ) ) [T (e Y e ) ) [ ) [ ) ) [ S ) S T ) o o | S S\ e T S o) | (e T e o S o SR S ) T [ 1 [ (/5

e e e ) [ (] e [ [ [ e i (] e [ [ ) oy ([ [ [ e [ o ) | (] i () [ o ] i ) ] [ (] () [ i [ (o) ] i () ) [ (] () [ ) () ] (e ] i o) () o (] e e ) i ) (] Iy [ [ o ] ) ey pl (] i ) (] ) (] oy o (] g S [ g O o o S ) () (S [ g ) A ) e i ] ) e ] [ i ) s o () e s ) R [ i i (o

Moderate metallic Non-metallicv u’ Weak metallic Strong metallic
bonding D bondmg\ bonding B bonding A
L M ,\ % NSNSV gy
Which of the following is les m&lleable" ?é_dztyfﬂujfa,uidj@; 311
Silver s+ D Gold 4 C Iron o 7 B Sodium@&s»v A
Metal lose their electrons easily because: S 1S el e QLT 312
Good conductors of They are They have They are
heat D electropositive ¢ electron affinity g electronegativity A
S i B e O B PEND
Which one of the following is brittle? ?é_t'lg:a;c..&VTd%Ufa..ufgjl 33
Magnesium (:?’? D  Selenium ﬁ&’ v C  Aluminum 4 B Sodium (=3 A
Metals generally have: (8 1P S M 314
Greater electro Greater electron Less ionization Greater ionization
negativity value affinity value C value B value A
ad Li'.::ﬁ‘-?ﬁ/‘g 131, o O‘f'f | w}? 131 kot Ly 7( P17 Tosks v
The most lightest metal is: ?‘Lu’u/ﬁﬁaq 315
Calcium (f-‘o’( D Magnesium ﬁ?-'? C Sodium (“5» B Lithium (:";’?'J v A
The most value able metal is: ?c‘-_u"ufdacﬁfu?c_q 316
Copper ¢ D Gold 45 C Platinum (fug v B Silver .+ A
Which of the following metal is the least conductor of heat? ?q.j’/ﬂﬁ/a,qgf:ﬂliﬂduf 317
[ron /7 D Copper ¢ C Lead ¥ v B Zinc £’ A
Which of the following metal is not solid? ?a.u.?’u’ﬂffdufc_uidj@; 318

IIlIl]II1IIiII!IIIIII!IJII]IIIIIIIIIIIIIIIEIIIIl[lil]II[IiI]IIIIIIII[EI!IJII[III]I
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Silver .+ D Gold 45 C Mercuryé/,v B Zinc & A
Mercury exists in: u@pakf:lty org%c :‘Létgégd//' 319
Plasma =Ltk D Gaseous u“u‘lpu’f C Liquid u‘_)wjh v B Solid £l A
Atomic size of sodium is: e S VRS 320
186 pm Vv D 185 pm C 162 pm B 160 pm A
Most reactive metal is: :c{-_ﬁx?fldmg)a,.,ﬂ 321
Sodium (%3 D Potassium (5" ty+/ C Rubidium ks B Cesium ( A
The color of flame of calcium burning in air is: 2‘¢.Vﬂjjgg'£(?x{2_.ﬂ£u:lﬂ 322
Reddish Reddish brown Golden black Purple black
Ji6 D i SLE ‘ beld B g A
Metals form after reacting with oxygen: okl ﬁfgdjjb’é:ﬂ, T 323
Neutral oxide Amphoteric oxide Basic oxide Acidic acid
AT D s ¢ paoey B i A

e e e ) [ (] e [ [ [ e i (] e [ [ ) oy ([ [ [ e [ o ) | (] i () [ o ] i ) ] [ (] () [ i [ (o) ] i () ) [ (] () [ ) () ] (e ] i o) () o (] e e ) i ) (] Iy [ [ o ] ) ey pl (] i ) (] ) (] oy o (] g S [ g O o o S ) () (S [ g ) A ) e i ] ) e ] [ i ) s o () e s ) R [ i i (o

Which of the following metal burns with pale
yellow flame in air?

S FALEEL S i pswpe S S s e p 324

=

Sodium (s v D Iron /7 C Magnesium (ff? B Calcium ((“&! A
Which metal floats over water? ?;;.J/j'éégﬁduf 325

Potassium (fe; D  Sodium#i»v  C  Magnesium ff:? B Calcium p"f A
Color of magnesium when it burns in air is: :%t'ﬂjﬁfép%?{.iuﬂn 326

Pale yellow Golden yellow Red like brlg Brilliant white
D C B : A
I2P) b 7 Lol Wﬁﬁg V A

...... burns brick like flame? \\\ O i (o M | WY

s P 5 NN
Magnesium (f"’g‘ D Calcium (3’(\/ L \gl%) assium (‘L* B Sodium (£5s A

Color of flame of calcium in air is: 5@\/ :‘a.mj%&"éﬁfutm 328
Purple black Reddish br V\?Q Golden yellow Brick red
1g" . uﬁqw ? ke . U lees -
...... metal is break able: \\/ :%duz”.it}%...... 329
Sodium (3 D Aluminium =4 C Barium ( z B Magnesium 5% A
Heaviest metal is: e Ul 330
Lead ¢ D Osmium C  Platinum~tv B Iron w7 A
The most frequent occurring metal is: :éﬁdué_wg;a%;p;q 331
Platinum (f 1k D Silver .+ C Gold t» B Aluminium £~'4v A
The color of flame of sodium in air is: e bu fKEEL iy i 332
Reddish Red Brilliant white Golden yellow
S/ V % - S ’ b v §
T e e e B A VNS PN SIS LI |
Calcium (ﬁ‘-f D [ron (¥ C Gold t+ v B Silver .+ A
A metal which is soft and can be cut by knife is: Icﬁ:_f:ﬁl?ﬁ’gc_u Jf%;u;,l+3ﬁrjfﬁﬁbg 334
[ron ¢s7 D  Magnesium ff"? C Sodium#i»v B Calcium ("E{ A
Which metal has no effect of mineral acid or alkali on it? ?txﬂﬁlﬁ(ﬁlgmd/@ﬂu‘u/ 335
Sodium (3s D Gold 45 v (. Zinc £ B Iron w7 A
Which one of the following non-metals is lustrous? ?%;lﬁ;ﬁgtu)&_uﬁjs@ﬂ 336
Carbon .6V D lodine (/57 C Phosphorus . B Sulphur /»L’ A
Non-metals are generally soft, but which one of ?ga?q,QU/;uiulugugr)@Mrbkut 337

2

| [ Y S [/ (e T T e [ ) [ [ ([ I ) ) e () T (] [ Y e T | Y e S e ) O | ) (| Y s (Sl ) (| S Y [ O (Sl () ([ Y | ) [y ) [ e ) e ) ) [ (e Y e ) ) [ ) [ ) [ [ e e ) S T ) S o | S S\ e T o ) | (e T e o S o SR T ) T [ 1 [ /5
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the following is extremely hard?

b LA

Diamond 415 v D [odine (/351 C Phosphorus v2# B  Graphite o) A
Which one of the following will not react with dilute HCI? ?L"/uf.f}hwflev& HCl&cu/c_utJja» 338
Carbonikv D Calcium ¥ € Potassium ¢y B Sodium» A

Which of the following nonmetal is shiny? ?%Jlﬁﬂdtdd[adﬁd}@/‘) 339
Sulphur /1/ D Fluorine c);;}; C Carbon 6V B lodine (/3¢ A
Color of fluorine is: e tu £ 340

Purple black Reddish brown Greenish Light yellow
-G D VS ‘ Jur ; 6l v A
Class: 9th Chemi stry a@ pakcity.org %o

"‘é" Subjective Part

If you prepare these Short and long Questions then Insha Allah Confirm your A+ marks

SECTION-I Jg) ~maa
Questions No. 2,3,4 2,3,4 s+ &Y g
1 Give the scope of biochemistry? e - PKJ ;J..’/ s 1

Differentiate between organic and inorganic @ e Z u 7
- ' / Ju U LA NI LA 2
chemistry. /6@ 2GS SGP UGS 2 T Tt T

Differentiate between industrial chemistry and ¢ st 1 4 ; "
3 P oL S AR g A 3

| I | [ (e Ty T e [ ) [ [ e (IS ) o (I S e () [ T ] () | (T ) ) | A () (| A (| ) (A | ) (S ) (| ) | e [T () ) ) ) ) [ [T e ) () ) [ ) [ [ e 1 o S T ) o o S\ ey T T e ) [ e (e T e ) [ ) [ T ) 1 T (1 1 e [ |

analytical chemistry. O%

4 Write two uses of nuclear chemistry. @ ey L }"i/ ALy 4

. Deﬁm.e industrial chemistry an@@alytlcal . /:-—E'.J /; J f ;4.( J%"ftaw 3 /ﬁ_{/ J./i’ﬂj:l :
chemistry. S .

6 How can you differentiate en organic and U.l."é..(‘-.:.jf J/ U:d/y“( HQ/JTU'J’U/H/ .G:CT 6
inorganic chemistry? eSS

. Explain why hydrogen and oxygen are considered ?:‘_t'l?l.‘fu{ 1'5.&‘(/ d&.ﬂ'd/’:& 2 f’f"’ oy’ ;
as elements whereas water as a compound. s

8 Define atomic mass unit. Why is it needed? ?éfﬁu{ il u’i_u:/ .y S, LISl 8
Write two differences between compound and -

9 .. " 7o 9
mixture. ‘fﬁd/ ”u‘/’:r J"‘“ﬁl‘r

10 Define valency and write an example. ..u‘_’;(ff’ JL:’U-J;M/ - /3 S g"'k s 10

11 Define chemical properties. And give example. _q;gff JL"tmlu:/ - /7 J G'J.L;ﬂ!'a?. &}( 11

12 Define physical properties. And give example. _Qj:d{” Jesig S P J. o J;‘b 12
Write the names of any four elements from . b : -

13 - y sg s -~ ‘., 7 | 13
Halogens group. el LV/L"%"-"}/ - 2
Write empirical formulas of benzene and

14 _ o J b, o b s . .*". 14_
hydrogen per oxide. gﬂmb‘ﬁ”’{ IKA;M{,JM&;L,AM/

1t ﬁ\/rite the empirical formulae of glucose and e J@. PRI ¢ 15

enzene. * *

16 Define symbols of elements. _Qj/._.;’cg/?d/%’é Y16

1% ‘S/Xftite chemical formulas of sugar and common ) Jf"j L sid Ve Jrlml Tr 17

18 ?illiiirentlate between molecular mass and formula " /5'30) SR TnY {’?L 18

19 Write the modern definition of element. Sl et Pasfoceki 19

5
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I. .I
| 20 What is meant by radical? Write some examples. _¢;J£@ﬁg?§_;l s c:.ﬁ.fg; 20 |-
| 21 Define atomic mass unit (amu). _.qj/ 7 . YUl 21 |0
| 22 Define empirical formula and molecular formula. gL S By s f 22 |
,; How does homogeneous mixture differ from oo o fid o g U s -
I heterogeneous mixture? o 0
- What is the relative atomic mass? How is it related W’jﬁdﬁ/ﬂ-}w gU”"——('/?C‘-}’/.L.f’/C‘——JLﬁ'HJ ”
I to gram? ¢ i
o State three reasons why air is a mixture and water Y2104 ﬂ’ﬁ M.E:f d&”'%ﬁqﬂf J.’Td/u w.-.“-:,.-'T -
i a compound? Al -
What is the significance of the symbol of an
1| 26 5 y e i Bl ke S ek 26|
1 element? ! . i
| State the reasons: soft drink is a mixture and : : -
| 27 . IS src i B gt il 27 |
I water is a compound. - EERTT W M T i
i Differentiate between homoatomic and > v I
11 28 . : - | e Wl A L2y 28 |
: heteroatomic molecules with examples. LT8G e ot ottt s b :
l Write down two differences between molecule 5 2 G 0
1l 29 : L S sl L 29 |
) and molecular ion. JJU/ nUt STl JR i
! What is meant by triatomic and polyatomic : -
11 30 y PO ?c:_)l/lf(chygL_ﬂf’ldiulﬂl&lf 30 |-
i molecule? ! > ® i
| 31 Find formula mass of sodium sulphate (Na2S04). -/ U 6K (Na, SO ety 31
Sulphuric acid is the king of chemicals. If you are Sfuﬂéﬂﬁu'fldjf//_:_awLK/wpiJ
1| 32 required 5 moles of sulphuric acid for a reaction 32 |
J then tell what will be its mass? NG i "JJ 1S LRI 5K ks Lo i
! Which one has more molecules: 9g of water or 9g-{\ ¢~ ce P 2 6 7 .
-1 33 LN S/ v V11 PI9248 % 33 |-
: of sugar? f_%\ D u"/y'r /9L.LUy/;;C'La;gJu*dg( /9 :
I How many moles are there in 4 gr:afns p 5 : - I
| 34 y Q\ ?Luyz}‘riuﬁ ig,tuﬁws,/t/ 40 34|
! phosphoric acid? /;,f:;» :
| 35 Give three properties of positive rax% < _¢/ @.lf..::.,.lgr“} o Jz,u’izjg 35 |t
I What are the defects of R tlherford S atomic . . [
| 36 £ \\q ?u,?lr’lfja'édjl.uﬂfliiu’/u 36 |-
: model? Sl ) [
| 37 Whatis plum pudding thé‘o'ry? Who presented it? eSS G/J)l?ﬁc_g e .ffgﬁo 37 |-
| 38 Write down two characteristics of canal rays. -uﬂ’/ ugayﬁ wdoJe 38 [
: Write down three characteristics of neutron A X :
1 39 . IS eehos® L EE Nty 39|
i particles. wTEe ¥ i
| 40 How neutron was discovered? Write its equation. a2l ai,pJJl?lx;)gj;d“/ sy 40
: Write down the observations of Rutherford's “ : :
| 41 | Sl eyl F L8, 41|
| experiment. - ' i
. Write down the importance of Rutherford’s atomic : -
| 42 4 e S L 55 42
i model. i
i Write down two postulates of Bohr’s atomic .. I
| 43 P JSkE s Al ML sy 43 |
i model. L4 Ok :
I Write down two differences between Rutherford’s 5 & 5 \ I
| 44 , B o q (3 44 1
i and Bohr's atomic theory. E 17 O ot Crsatisd o i
| 45 What is meant by quantum? P . c_f‘ 1 45
1| 46 Write two characteristics of protons. --uiﬁg 2o »d/f‘;ﬁ{. 46 |
| 47 Give five characteristics of cathode rays. _‘_g/ @'Lgm?'ég L:;,/j’,ﬁ{ 47 M
What will be the nature of charge on an atom ,;,(?-!Jl?'cat'/g}”lagc‘_t'/@uu; ”..l(bf*l&'fyz
| 48 when it loses an electron or when it gains an ' . ‘ 48 |
electron? S Jnlfed IS
| 49 Write the names of first four shells. _”&U(tiilf edt 49|
50 Write the electronic configuration of carbon C-12. _Jfgﬁﬁuﬁﬁgld/c—lzuiﬂ 50

) .-l
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|| <, There are 5 electrons in M shell of an element. L2535 ST ME ek -
Find its atomic number. n, /r Jor
| & S % % & b 3 H
1 < Write the electronic configuration of Al3+. How iu:cf:d%c—-ﬁ-ﬂmﬁuﬁfg'd/ﬂ%l -
many electrons can valence shell accommodate? W
: Differentiate between shell and subshell with G5 o 8 5 !
| 53 LR E | e J 7 A IS 53 |n
i examples of each. J")‘flvd/“gﬁ “ZIUL” O/ sl 0
| 54 For what purpose U-235 is used? ?LLt'ngJWI“LLWJKBS—(?ug 54 |1
| 55 A patient has goiter. How will it be detected? ?Z;{/g{u‘:.? d/u’l_:r'_}/ffﬂ/.gl 55 |
| 56 How many isotopes chlorine has? ?@?JJ/TZLQ:J% 56 |
| 57 Whatis meant by radio carbon dating? ] e L3S 6k, 57
| 58 Write the isotopes of hydrogen. AT L Pz, 58|
| 60 Write down the use of iodine 131 and technetium. _q.’/uyJLz'Ple,,"f%;;l 131327 60 |1
I What is the difference between Mendeleev’s - I
| 62 e - ¢ w3 S5l iler 62|
! periodic law and modern periodic law? SO UL psp oS & :
I What is periodic table? Write down its : : i
11 63 . e & (¢ sl e 631
i characteristics. uﬂg = ~du {'L’( S s [
! Write the names and symbols of the elements of s - -
| 64 y AL g LS T 6a |
i first group. = R i
| 65 Define Newland’s law of octaves. ST STk 65 |
| 66 What is meant by transition elements? | P /g;ﬁfﬁuﬁ;l; 66 |
¢, Why are the elements of group 13-18 called p- \“ ? ““’P‘bIOCkaA"LV‘?lg‘Bv’/ -
! block elements? . :
i AN N M ?‘c"u? B
I , . R i
] 68 Define modern periodic law. >N Sl S s 68|
J > ‘ ; :
1| 69 What do you know about Dobereiner’s tgié‘\tng‘?’ CZ b T e AL G2 Fis 69 |
: . . 5, | - j
| 70 Define periodic law of Mosley. o ¥ gl S pld iy 70
] Write down two characterls.tlufx‘s\/of long form of . : .z I
] 71 .. < Il adleilty 71
] periodic table. RO JJ or? U S Ak i
' NN I
i Why do the elements-called s and p block b s i
| 72 P i il l -~ 7210
] elements? . l?qu{‘f/i JU"p s [
| 73 Write down the symbols of noble gases. _uf.dg&LUiJ/’-‘jJﬁj 73 |1
| 74 Why are noble gases not reactive? i yzu.‘f ;Qd,u,[ /—..f S 74
| 75 What is meant by atomic radius? Sl plf e Rhakll 75
| 76 What is shielding effect? e et 76 |
| 77 What is the trend of shielding effect in a period? S EAKLE EE S p ] 7T |
| 78 Define ionization energy. -q,*/.@/’J&;w"ifth 78 |-
] What is the trend of atomic size and atomic radius s , . I
| 79 . . IS CSEs S ik g ALzt 79|
I in periods and groups? sl g I
1| 80 Describe the trend of ionization energy in group. ..Q:/'/ B AV O IT AL _;z}j 80 |1
| 81 What is meant by first ionization energy? sl /gc_d)lu?«y’l:;ff‘ﬁ? 81 |
| 82 What is meant by second ionization energy? Sl ,i e GATF TS ras 82
g3 Why the second ionization energy is higher than AU olic GAF AL TEEARFALTS o =
. the first ionization energy? ¢ I
1| 84 What is meant by electron affinity? sl Pl = s A 84
| 85 Whatis the trend of electron affinity in period? ?6¢ulzjguigf:l{ﬁflu;/*gl 85 |-
| 86 What is electro negativity? Write the electro ..u:‘."ﬁ & ;;J‘:?: }QIJ@J%?Q'_’L[ & ;;?.?; O 86
| ) " 5
II!Il]lI]IIiII!IIlIII[I]II]IIiIIIII!II!III[IIIIl[lil]IIIIII]IIII]]IIIEIiIJII[IiI]I
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I negativity of chlorine. I
! Write down the trend of electro negativity in a ey - -
5| 387 5 y -JIUQU@JK@{:‘.’EJ/QIJWJ/( 87 |
] group. - g i
i Atomic size increases from top to bottom in a . - i
1| 88 P U e tor e it ) 88
: group. Why? ‘ i ? -
I The ionization energy of sodium is less than o [
1] 89 . ‘U - e l l 89 |1
I magnesium. Why? A Ldy{"’ ‘5/ I J(”/ [
| 90 What is meant by effective nuclear charge? ..g/ - /3 1 o /f*’/:f}'? 90 |I
I Write the trend of electro negativity in the i+, ' i
| °1 : . v -J/ul«.u%gd.f:‘ig’/‘g'ﬁé/& o[
! periods. i !
| 92 Why do atoms react? et wflu&urf ST~ 92 |1
| 93 Why noble gases do not react? ?j/ufﬂd;u{ﬂi)‘} 93 |
; What is the difference between duplet rule and - -
1] 94 ) ke . 8l s b3 94 |
] octet rule? I G [
1| 95 What is the condition for the stability of an atom? ta L, ool Ly:(? Lfiilu’( 95 |1
| ¢ What is the difference between polar and non- =2 los§ Uit e AW U n ek sd Jyoust /g o I
polar covalent bonds? Explain with example. _deiund £
| 97 Why does a covalent bond become polar? ?cgbtg@iu{/’;ig&;{:fug 97 |
- How many types of chemical bonds are? Write w, 2 :
-] 98 , ~Ue b eIS el izl S 98 |H
I their names. fﬁﬂéu’ i U{JM[’JJ{ I
| 99 What is ionic bond? How it is formed? ?all"w.d:?alﬁ:tjyf?'
: How man es of covalent bonds are? Write the -
|| ee v P (€ m Al d Sisetss 100f
i names. > \( I
I Describe polar covalent bond with the help of an . - I
1l 101 p p AL ';-‘«\ <& -J/JL")/LJJL"\.QJ)LJJ[/‘% 101}-
i example. RS - ekl I
I a2 I
0 Describe non polar covalent bond with the helg of . ; I
| 102 ) (A o S s e S ketsf Syt 102
I an example. AN a e i
! Why polar covalent bond does not: (exist in the . o :
11 103 NS TP Sl ) S 1030
I molecule of Oxygen'? \ \C VWU{AL%){/%’JJ{OLL f :
| ‘1\ §
| 104 What is metallic bond? How 1SJﬁT0rmed7 = E'%zf/:,,?f Ykl 104
j What is the difference )between donor and i ;
1| 105 C\ ?Lu/l/u*‘j’«"g,ulj}»” 105]]
I acceptor? c I
] 106 Why polar covalent bond exists in water? ?ﬁ;r@ggu,&gq,ﬂgu:&g 106|f
] Write down the values of electro negativities of w3 s s [
] 107 , il e X 0 AN (f~a, 47 107"
' hydrogen and chlorine. J@U/‘Z‘J Jd"“‘;"/g Ju:”g” o) :
| 108 What type of covalent bond exist in CH4? ?f_ttggg:cgqﬁfgc)w/uf CH, 108}
I Differentiate between lone pair and bond pair of o 3 o, I
| 109 3 ¥ LS S mud s 1 109
i electrons. - ; i
| 110 Why HCl has dipole-dipole force of attraction? el dlus /'fJ}JgJB’JgéILﬂLHCI 110}
111 Why does ice float on water? ?‘LJ/j'uxf,;&.L._:‘/, 111
1| 112 Define hydrogen bonding. Ay PSP, 112
! Why the boiling point of water is greater than o a i
| 113 TV B ¥ b S b Jesy Bl 113
I alcohol? ‘ - : : I
H| 114 What are van der Waals forces? el a9 Mk 114
. Explain the formation of coordinate covalent bond \ ,., !
-] 115 | SGnmolosb ke L)Y (e l 115)H
: n BFs and NHa. ol § Skl ok o L33 TY JANH, 1IBF, :
I Give the characteristic properties of ionic s e [
1 116 prop I ehos® o S d 6T 116
L compounds. W 3 0
| 117 Wha:t is the difference between malleable and u@pakcity.org%a S S J’/ st 117]
I ductile? A : ‘ " I
I Write down two characteristics of non polar . g I
1] 118 e & A3 J¢ 118]-
- compounds. UJ .L."""?”deufuﬁ.&f/'zut i
; s
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119

120

121
122
123

124

125

126

127

128

129

130

131

132

133

134

135

136

137

138

139

140

141

142

143

144

145

146

147

148

149

150

151

Define ionic and covalent compounds.

Write the names of two polar compounds and also
write their formulas.

[onic compounds are solids. Justify?
Metals are good conductors of electricity. Why?
Define effusion. Give an example.

Define pressure and write its unit.

The density of gases is less than solids and liquids.
Why?

Does the density of gases decrease as we cool
down the gases?

The density of gases is represented in
gdm-3 and that of liquids in gcm-3. Why?

Why diffusion increases as we increase
temperature?

Convert 70 cmHg into atm.

What is compressibility?

Define standard atmospheric pressure. What are
its units? How it is converted to Pascal?

State Boyle’s law. Write its mathematical equation.

Convert -30 °C into Kelvin scale.

What is the difference between systolic and dka ’\2
systolic pressure? Q\\\A ")

\/\

. . r”
What is absolute zero? Write its value. /1.2 )™
e \\ (;»ﬁ,/’

'J/" N\ -

Convert 100°C into Kelvin scale. o)

What do you mean by evapm;agci@h how itAs

affected by surface area? _ -

What is the difference b@@\?een evaporation and
condensation?

Evaporation causes cooling. Explain.

Write down two characteristics of liquid state of
matter.

How nature of liquid affects the vapour pressure?

What is the effect of surface area on evaporation?
What is the effect of external pressure on boiling
point?

Kerosene oil floats over water while honey settles
down in water. Give reason.

What is the difference between evaporation and
boiling point?
Why liquids are mobile?

Differentiate between amorphous and crystaline
solid.

Define the term allotropy with examples.

What is meant by allotropy? Write the allotropes
of oxygen.

Write down two causes of allotropy.

What is meant by transition temperature?

S P ek £ 119
_u.‘f’gjuvaumljt‘»d/)fci.gf)g» 120
oo pE g # AL T 121
?u[_uzln}/”c‘&féli&f}?l}% 122

e Sy Pl it 123

..u.‘."gu.fjﬁu‘u,u/,g/ﬂfﬂ{. 124

v dnudFE S A erSu s il 125

S duefd G I Lkt 126
/;Uv'u:;(J: gcmﬂfé"%ﬁd/éu! gdm_3 j”;'«jd/uf

127
fe bl

S b Sl A ie 22 b g 128

-Q/J,fuf atmf70cmHg 129

Ce S5V 130
e IS LS PSS e seis b

131
ce (Pl LUt

u“’a S u'ﬁPdVJJ!¢¢U/u}b ¢ f1y 132

\\(”\ SIS Sy 30°c- 133

S O VUL sl 134

-ﬂJd/J'?‘L,l,f@,;j@yir%r 135
e syt f100°C 136

?‘Lt'ﬂ/&lgj.’:u’l(,;,ij Cesl p e gyl 137
?+J)guﬁf.’ "W il gl 138

S e ore r K S St 2 nny 139
-Jﬁ&k"f}»d/:)bél.d/wl. 140

?%&ﬂ)ui}"l4/4;{.44.3£J1;}5J6LJ/ 141
e b o IS 142

?%mﬁig{,&igﬂ”iﬂ;ﬁdw 143

éféd&gi L b f 4(3ng7¢£.” A S G ez
?uxﬁ.gg_ﬂ?

144

SOy S ey 145
cplsnud Sl 146

/] o b3 fp n L E G Sl # U 147
S st ik 148
-Ufgvﬁj’&’éd?:??‘a:l/gc_q;}ﬁl 149
L F eh s 150

Sesl oV g2 151
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Write the names of allotropes of phosphorus and A X

152 pes o posp AL U G L PG 152
sulphur.

153 Write down the use of salt to preserve meat. u@pakcnw OTQ%" J///JLMKJA Lo S S =2 153

154 Why white tin is available at room temperature? Tk ﬁ..,..z‘w;uyf PPy /.;’ s 154
Differentiate between solution and aqueous - s 4 5

155 . 1 S G U F b K 155
solution. TS
What is the difference between solute and 2 3

156 SO Uiy e sy 156
solvent? i

157 Define super saturated solution. _Q/_Q}JJ%,G«,;{?@* 157
What is the difference between saturated and .

158 , e b e sl s 158
unsaturated solution? e
What is the difference between dilute and o . ; .

159 : ¢ e (¢ & (& <5 159
concentrated solutions? V7 1 wu”,”{"/// ik

160 What is alloy? Give examples. _q:uf&?+gLU! 160

161 What do you mean by volume/volume %? ?%J!/y/c’_zvolume/volume 161

162 What is meant by percentage mass/mass? ?%;l/gc_u’t/u’l.gﬁ/{, 162

163 What is meant by percentage volume/mass? ?‘é;i/gc_u’t/ﬁu(‘f{/? 163

164 What is meant by percentage mass/volume? el \ a.(fu/ JL@';"/ 4 164

165 Define molarity? _¢f~ngJAr 165

166 How one molar solution is prepared? ?mLLUJJ#JrJ 166

. ¢7 Justify with an example that solubility of a salt JJPLZ—L"U“//IJ/MV/L’JVva i&7
increase with the increase in temperature. A

p | '\u./} X LAy
W\ O b

168 What is meant by solubility? 0\\}{5 \\‘ Tl e Gy 168
Write the names of two substances which dor n@t | .

169 U ; a3, Jteos L2 169
dissolve in water. ,» \:g Ui dl?fdp L mﬂr/gutiuﬂg (Liy )

170 Why benzene does not dissolve in wat@ﬁ ?un.fu{d"ut&gdﬁ 170

OV , N .
.-, What do you mean, like dlssé\}ves line? Explain =W UsLike dissolves like-c AL/ 71
A ‘\
with examples \ L\ x /S

17, When KNO3is dissolved in water then why test ”U{dﬁv’f@’f;’.eﬂ?gfuwg/mmv? -
tube becomes cold? 0 (il

173 What is tyndall effect? On what factors it depends? S bsry JlfchLf | m?ﬁ_g 23k 173

174 Write down two characteristics of colloids. _uf’a =los? 0 ks 174
Why the suspension does not form a homogenous . ; - &3

175 'Y TTE SUSP 5 X LUl T g E 175
mixture: '

How will you test whether given solution is ; 51 @ -

176 _ . T y4ITAT . rl 176
colloidal solution or not? J”g%; U/J)de}’( ‘C‘Z/UL"C) d/.,.

177 Why do we stir paints thoroughly before using? ?u}LL&U[L}’Q{IIﬁ%LJW‘!ﬂ 177
(78 Why suspensions and solutions do not show L8 ST U b BB P b 78
Tyndall effect, while colloids do? e Sawud
|79 Define reduction in terms of loss or gain of oxygen S hed ’W/J"’?L@'j'idzﬂj‘f%ﬁ 179
or hydrogen. Give an example. IS Sy P

What is the difference between valency and i e

180 : : ¢ Lol sl -s 180
oxidation state? 4 i Ler
Write down the difference between spontaneous TE & o

181 , U oo | o @bl e 181
and non spontaneous reactions. ‘fﬁd/ A ‘Jﬂk’ sl 5

182 Define oxidation and reduction. _Lj”/_g/jd/d:’gfgmlﬁjfﬁ' 182

183 The oxidation number of sulphur is variable in -c.J?oid4;/ﬁ~MK}l’ui H,SO, s/ H,S,S0, 183
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H2S,S0; and H2SO4. Find the oxidation number of _ér,bf/ﬁﬂTK/?Pchfbf/
sulphur in each compound. N ) :
Find the oxidation number of manganese in

184 ¢ STl 184

B4| L nO e g LT e gt KO, 18
Find the oxidation number of Nitrogen HNO: in s &, p

185 - SHOLY Jes P 185
and AgNOs. u:/r)l”‘//u",t/(! KJ)/‘LU* AgNO;.4/HNO,

186 ;)éfefﬁllc":ntlate between oxidizing and radioactive SISl = f‘-ga.’»?.w' N j:/T 186

187 Why metals are called reducing agent? ?ugjiuxf 2L yh M 187

How can you prove with an example that J;¢(’?.|JJTIU?£/¢,;E°&/@’L~£JU‘»UT

188 conversion of an ion to an atom is an oxidation . . . 188
process? DU NI I BL
What solution is used as an electrolyte in Nelson's . , 81 . :

189 y S bl Uerasys A1 BF S U o 189

190 Name the by-products produced in Nelson’s cell? ?wz;ﬁfs[4 Jul&/u:jg’y 190

191 Why sodium chloride is a good conductor? ?é-_u[}(,iﬂ/lp;lj;w{éjr 191
What is anode? What is the difference between . .

192 - . w392 83w S e w3y 192
anode and cathode? Q:/ug’ e u*”ﬂ/” b s

193 What is galvanic cell? Give example. _SoJeta U 6+ 193

194 What is salt bridge? What is its basic role? S KSR T/l 194

What type of chemical reaction does occur at the - ~
195 . ? WA AR 5y [ ; b.. 195
anode of electrolytic cell? Vs ol AL U L e s A

Write down two differences in characteristics of
196 electrolytic cell and galvanic cell. oL de/”d' 3L L e —E 2 196

197 Write two characteristics of galvanic cells. .\\ \ (\{"} S F e o §K L & 197
168 Elgii;z?;:ze between strong and wg\&\\ + o filsdfuﬁu:'/w }gl» )//:!J?J"Lb 198
199 How is electroplating on steel carried outf\s (& ??8@‘_{4.{,@.,}?@/@54& 199
200 Where sodium metal is collected in Down s cell? ?%Jnu}quqﬂﬁyuij%li 200
501 What is meant by metalllc\ \q‘eatir?g? In which  ®WUEE a0 St e st o e B L 501
industry it is used? . ‘\ fe
202 Describe shortly the procedure of tin coating. ..u“/ O Ay P S 202
203 What s alloy? ?ug;y//z’ g 203
. In electroplating of silver, from where doions T Ul Lféuqfffd'f”éﬂ:’}g’@’” -
come and where do they deposit? v
205 Why is oxygen necessary for rusting? ?‘a,dj,/u{j{‘l'“&édjiifj 205
206 Why is galvanizing carried out? ?{;JL?J Uil Lt W+ 206
507 What is meant by galvanizing or zinc coating? How aL?Jd“/"é’/J}?%’[/g‘;f’(ﬁkjft"( -

zinc coating is performed? What is its advantage? S sk BUE IS

When iron gets corrode then what reaction takes
208 g : QLL‘I’}’J'(’O’JVU}(/ J._/) JJJ/U/IJ 208
place at anodic region?

What is the difference between corrosion and

| [ | S [/ (e T T e [ ) [ [ (1 T ) [ (T S e 5 () [ (T ] (T (S | ) (T e ) () | A () (| ) (S (Al ) (S ) (| ) ) [T (e ) ) [T Y e ) () ) [T ) [ ) S T ) (o (S T [ ) [ ) [ e (e T e ) ) () T e ) I [ T [ L/

e e e ) [ (] e [ [ [ e i (] e [ [ ) oy ([ [ [ e [ o ) | (] i () [ o ] i ) ] [ (] () [ i [ (o) ] i () ) [ (] () [ ) () ] (e ] i o) () o (] e e ) i ) (] Iy [ [ o ] ) ey pl (] i ) (] ) (] oy o (] g S [ g O o o S ) () (S [ g ) A ) e i ] ) e ] [ i ) s o () e s ) R [ i i (o

209 . S SIS Eos ) 209

rusting? /T'-U/gu*iufus u,u/

210 What is the role of oxygen in the rusting of iron? e its L KT T A S LI G <4 210

211 What is meant by electroplating? il ,U o Bk, 2 211
What is meant by tin electroplating? Describe its 40, ;

212 y P & _J/UQQ}(J’?C_)'/MLM.)/?IJ& 212
procedure. il ‘ .

213 How zinc electroplating is carried out? ?%J@Ja“(u@.:ﬁ?ld:@ 213
Write down two methods of prevention from " .

214 COTTOSiOn. P -J.‘.Qﬁéj_)’»iflfc‘_.d}')/ 214
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I. ®)
-| 215 Why aluminuim does not get corrode? ?C@ﬁ}u[f)/ﬁf‘f&t 215|
: What is the difference between steel and stain less & . . : “ 3 ; L4 :
11219 crael? r@pakcnty.org%o ?c;-d/.‘./uﬁfu‘"u.’.’mdf 21e|:
| 217 Why is an iron grill painted frequently? Ce bl UL 1S SusT 217)
218 Why is steel plated with nickel before the JU{H@.%?'JJ@:-;&M’/@'JK’/{-J{ 218
I electroplating of chromium. e b I
- Why reactivity of metals increases down the o . :
| 219 i - J e T hUn (2 d}d/)"‘-:)ufé’-u"-«:/ 219(;
I group: ﬂ [
| 220 State the physical properties of metals. _q/ugayﬁdfd/ﬁj 220]-
: Why the second ionization energy of magnesium is . & . e e -
11221 . _ ¢ ‘ j LRIVt cee 22100
I higher than the first one? °Ldfu”)"/”'l‘m'&/ SASFELTS 2 J(JJ/ i
] What is relationship between electro-positivity aldf Ty -
| 222 . £ LS AT T el (§ w2 ols A1 222)
i and ionization energy? Cf-'dwg FE AT d'”g’/a i
I Why electro-positivity decreases from left to right Py ’ ; I
il 1223 . _ ¢ : v ils AU oS i 2230
I in a period? “f;dfﬁ/dj&’/a u/""/‘?u: AT e 0
| 224 Why are silver and gold least reactive? U L d;{ ...xl,«,dfj,eu)’ 224]r
|| Can pure gold be used for making ornaments? If ﬂfﬁ??—[ﬁ?g«ﬂ’p’% L4 l;_;g:ug’u’i’ﬂ[fug 5o |F
not why? U
-| 226 Why is copper used for making electrical wires? e bl iU 6 L4 ng_g;t'gﬂé 2264
| 227 Which metal is used for metal work? *‘a.t‘rJL»’Hu"_/Aﬂ JAuy 2270
H| 228 Why is magnesium harder than sodium? A\ QLJMLJU)"/ (’f? el 228
I AN A ) |
] Why is calcium more electro-positive than -\ &~ , o sl I
1| 229 y . 3 \\g)\’ g2l s /*?muu{(:o‘f' el 229
i magnesium? N\ T ® " 0
il CON & v . o i
1| 230 Why is ionization energy of Na less than Mg? _0'\"3’\‘}}\':1' ?c;_u{f&jlm:?bgid/ﬁroyd}rf? 230|1
| f" e) s ¢ . |
1| 231 Why is the ionization energy of Na more thdnK ?%uﬁ:gjc,ffe;&)lﬁitfﬂfﬁy 231|1
| 232 Define metals and give two examples 3;5 ..@uf.'l:'?:wu“/ -3 /7 d/)-’i: 232
| <\ } 2% ) |
| 233 What is meant by malleablhty?w Jh ?L;l/l/c.@f?f*l'/ 233|¢
i r \'\/ ‘ - B
1| 234 Write down two uses ofsliver S el L 234
|| 235 Define electro positivity and give example. -@:dﬁjalq/b@/j.J&é.jgafgl 235]f
| 236 Write down uses of gold. J et L2 236]
1| 237 How is the purity of gold identified? ?‘Lb@gﬁwdﬂ/@,gfjw';r 237"
| 238 Why gold is used to make jewelry? St iusllrd L2 L /az 238
| 239 Why sodium is more reactive than magnesium? ?é_uyf }gd;o;gjc_ﬁ (.’?’? qﬁ'ﬁy 239]"
240 Why platinum is used in motor vehicles as ?+m?gd“‘°”d’ff:%{.ﬂb£~i)L’%:'/JU:’.’J(’WY‘ a0l
catalyst? What is the advantage of its use? AL I8l
: Write down the names of least reactive or noble . : :
| 241 Ll sl e 201
I metals. - ~ I
1| 242 Define electro positivity. And give an example. e Ll S 5 509 A 242|]
: Write down two chemical properties of alkaline . 1 b s 4 ;
1| 243 By S 77w 243
1 earth metals. ! or” Qe d K240 S I
1| 244 Write down the uses of sodium metal. S eI LS e 244
| 245 Write down the uses of magnesium. _J//f_.,UWIL(”? 2454
L Write the reaction of sodium and magnesium with - . o e :
| 246 g U AL AL FTEE ks 246)
i oxygen. -
| 247 Write the names of four most reactive metals. _fg (té}“ﬁ‘}gdﬂww 3/ 247
| 248 Why silver is never used in its pure form? ?u{.bbﬁﬂJWluﬁdbu‘JL&f(;fd;b 248|]
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249 Why platinum is used to make jewelry? et U1yl L L4 l;,.:.,ug)(':ég 249
Write down the names of two most ductile and ; ,
250 i w ol ) 3asl ) 250
malleable metals. ﬂrtik’)w” J Pinlje
What color of flame do sodium and magnesium . .y g &
251 S0¢ 5 S Qg BB e 2 S i sy 251

produce when they burn in air?

Why does electro positivity increase in a group
from left to right?

Why metallic character increases in a period? And d’"f/ P - oS e P rud b Mn 2 2

252 Qc"_.(:f&’?&fi/&:}giu;{ubuﬁja.u:/tu:v)/f 252

253 . . 253
why it decreases in a group? fe

584 How will you compare the electro positivity of »-ff""d/..f &.ﬁzh/‘ald/)*ﬁ;iuwml}”ﬁ -
alkali metals and alkaline earth metals? ¢ LJ S

255 Write the names of noble metals. ..u:‘.‘”g b LR kS 255
Give the name of that metal which is the least )

256 e i 7R etk >l 256
conductor of heat? {-/ ’J{‘:'JJ Jj?%brw‘f‘j

257 Write down the names of two moderate metals. L (L'L}U‘:}.gd%ubdx’vud 34 257

258 Why fluorine is least non-metallic than chlorine? S U] Merbnsl s S oSy 258

259 What is meant by halogens? Write their names. _uf’a LSl e sk 259
Write down two physical properties of non- . A

260 PRy prop ks 3 ARt 260
metals.

267 Which products does chlorine produce when it /U/('dftﬁ;ﬂ“'éfujdl’}(ﬁﬂ;@”t/“g .
reacts with methane in dim sunlight? N fe e u./}, Py Foal, é:

262 Write down two uses of non-metals. | \(“/\ ) _uf’g e Mt 262

\ \ <’ = . & s

263 How chlorine reacts chemically with dilute NaO’g\\,\, ?{_d)/ u’»{ 18080 a;,NaOca‘_Z/ /’u/ @,,K 263
Why nitrogen is necessary for the safety oflife’on : ; . PP

264 y 5 y y fllf‘ ?a,d,u/"u::'./ue)f L’&LJL@?JJJC,’(‘J} 264
Earth? / \\ﬁ n - :

2 Write down the trend of non- metall@ character in  hoBaUE L g 6 A S LS S 5
groups and periods in periodic tab?lve 2

\\‘\} . - i

266 How Clz and CH4 react mdaﬁrk sunlight? ) l‘,"!r.'é“r J’*:IJJKCleCb Ry St 266
How nitrogen plays essential role for the existence 5 T

267 T 5CH play sl Sl gt L e S St 267
of life? =
What is the importance of water for the existence . 5

268 1o P S Wemi$iLd Ludlss 268

269 Write the chemical reaction of H, with Cl; and I». _uf’gjv.ﬁlz 211Cl, fg!dJJMKHZ 269

,7o What is the importance of oxygen and carbon 4‘—‘::‘”%(.450”{.’/"U’/le?u(z?mdlﬁui;{mﬁ o

dioxide for animals and plants? ¢

Long Questions <Yy ual | |
SECTION-II 92 4> % pakcity.org%o
Question No.5 5 s Jlgw ' ‘

1(a). Find the number of moles, molecules and atoms in 6-
gram water.

(b). Write the uses of isotopes in various fields. -LZ/U,L;&UWILJ’JFTU:U}?‘J?

“J/ (}V,sw'f 1 ;f":mu’r“?wrui’&wf 6

2(a). List five characteristics by which compounds can be Sy SIS P Pz or® GG
distinguished from mixtures. i J:C St

(b). Write a comparison between Rutherford and Bohr's
atomic theories.
3(a). What is the difference between atomic number and
mass number? Explain with examples.

_u:/u%’;)lfgz,ﬂf?._ﬂflJ/;}f)}l}bﬂ;ﬂ)

| Y L [ S [, (T T e ) [ ) e (e I ) ) o T ) [ T (] [ Y T (| ) (T e ) ) | A (| s (o (A | ) (S ) (S | ) ) [ [ ) ) ) [T YT ) T ) () [ T ) [ S ) S T (o () ) S [ ) (S ) [ e (e T e ) ) () T ) I [ . e [ L/

_.u:/(ilja,u:jfﬁ?c{j_u“/.guf/:}JLJ}l/:}ﬂl
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0 S e e e e e e = e e e = e e e e e e i e e i ==

(b). Write Bohr’s atomic theory. Also write its postulates.

4(a). Draw a labelled diagram to show the presence of
protons in the discharge tube and explain how canal
rays were produced.

(b). How neutron was discovered? Write the
characteristics of neutron.

5(a). What is mixture? Write its five characteristics.
(b). How did Rutherford discover that atom has a nucleus
located at the center of the atom?

6(a). What is molecule? How it is formed? Explain different
types of molecules with examples.

(b). How are cathode rays produced? What are their five
major characteristics?

%pakcnw org% Question No. 6

7(a). What is a chemical bond and why do atoms form a
chemical bond?

(b). What is allotropy? Explain with the help of examples
and also write its causes.

8(a). What is an ionic bond? Discuss the formation of ionic
bond between sodium and chloride atoms?

(b). How many types of solids are? Write down its
properties.

9(a). Explain the types of covalent bonds with at least, orLe\ S
example of each type.

(b). Define boiling point. Explain it with the hélp of kinetic
molecular model. Also explain that. hﬁw different
factors affect boiling point? ()

# "\.\' \ ‘\-"/

\
\ ‘\/
10(a). How is a coordinate covalént bond formed? Explain

with examples? g

(b). What is vapour pressure? On what factors the vapour
pressure of a liquid depends?

11(a). What is metallic bond? How is it formed in metals?

(b). What is meant by evaporation? Write its properties.
On what factors it depends?

12(a). Define hydrogen bonding. Explain how these forces
affect the physical properties of compounds.

(b). Define Charles law and explain it.

13(a). What are covalent compounds? Also write the
characteristics of covalent compounds.

(b). State Boyle's law. Also derive its mathematical form.

Question No. 7

14(a). Differentiate between dilute and concentrated
solutions with a common example.

(b). Discuss the redox reaction taking place in the rusting
of iron in detail.

PN

-«.Z/'/ L:),L./.Lﬁ, S AL g{/( S ﬂitf/bﬁ
U L /ﬁwdﬁ;ﬁrd/y'i%u:?f@gj
2 St AU S/ ;»sziufl;:,'lf
I ks St E el s
Yo égu‘ WU fef /

?9.8' s S LS SRy

S U b T Ut 2 e U
_Q.’/(gl:a;,u}@"

S AIFELL 1SSl Lo 55,
6 7y

St S A L S
el Az UGS e S S o

J
& VB T L s S B T
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eI S S P ety
S S S o los Sl S el S
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i

S bT Ut sl by Uh KA o (S
61 eebor® SU1S sl P e sy
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SY Szl by U
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1| 15(a). What is meant by concentration? Explain four e 2Ll //J/ Sl e ///
concentration units. .
(b). Describe the preparation of sodium metal from ay o Whe . (£
molten sodium chloride. -LZ/(UL% ok Jwémaf’”g@yé'ﬁé
-| 16(a). Explain the solute-solvent interactions for the 2ol ey L Lpd
I preparation of solution. J
(b). What are electrolytes? Write its types. -Qj/ Sletd 1t I U Us }g!
1| 17(a). What is general principle of solubility? ?q_g iy ,brw&%.)r
| (b). Compare the characteristics of electrolytic cell and y ; 7 e !
: galvanic cell -%'/(HJ'Y‘KJ'?C‘:JL/J)&(JJ'J:HQJ ¥ :
18(a). What is meant by solubility? On what factors the IR L0l seia’ 4Gl Ce U sradr |
solubility depends? Explain. S et te o
| (b). Discuss the electrolysis of water. _Q“/ug;ﬂ"fﬁ‘,}glﬁ&g
1| 19(a). Give five characteristics of colloids? S e tor® égdﬁi’u/
| (b). What is oxidation number or state? Write down the Jputd LS PIS s S\ AL 2 3T
I rules for assigning it. |
1 20(a). Mak ' lution, ' d a . -
: (a) Cc:;all;z comparison among solution, suspension an & ;)lruﬁi’uﬁalﬂf/cu’ylr :
| (b). Write a note on oxidation and reduction reactions gf/wusigf',w(l el sl sl |
i according to the addition and removal of electrons. = u“’U -
I And explain with examples. \(\ Op) o ose Ul el
| 21(a). What is the principle of electroplating? How is \ & jﬂ /‘0 J/r) /"a‘-Uer"‘d)Vguc"L /’0’
i electroplating of chromium carried out? Q,\if\' ) P A i
[] \“J ¢ . |
(b). Write down different methods to prevenrggormélon o /UB%— b e i s
i D \ . :
122(a). What is saturated solution and howd\t is prepared? ?g_b@@gé RO I |
(b). How can we prepare NaOH on B\mmeraal scale? ?‘gfﬁt?gﬁxg d“/,?l/fui’l( vl e T
T
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